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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180453
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861806707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of

the given pair.
Choose the correct alternative.

Moon : Earth : : Phobos : ?
Options:

1. = Jupiter
? % Deimos
3.« Mars

/. » Europa

Question Number : 1 Question Id : 5861806707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 % T AR BT g weet F 9 v ARET wew g, 3R % gl 3R ve e g e B, st
T 71T feremt & ¥ 98 o8 T ¢ 50 30 e ¥ T8 99 @ A7 fTv 9w ST & eedt =

fart & @ 7 Rwew T4
TEAT : P : PEE : ?

Options:

1, » TWE




Question Number : 2 Question Id : 5861806708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
There is a certain relationship between two given numbers on one side of : : and one number is given on another side of

: ¢ while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.

17:144.5::22: 7
Options:

1. » 242

7 % 224

3. % 338

A, % 390

Question Number : 2 Question Id : 5861806708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

D1 % T AT O FEE & a9 v Af¥es wew g, AR & gl 3N v e & g g, A fv
T RFeFeal H ¥ 98 TEIT G ¢ /g 35 601 ¥ 98 999 & 3 Br ov A2 1 gt & 9=
gl

e & & = R T4

11445 - 222272
Options:



1. «» 242

D w224
3. % 338
4. % 390

Question Number : 3 Question Id : 5861806709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words

and hence belongs to the same group.

Facebook : Whatsapp : LinkedIn :

Options:
1. » Google

? % Yahoo

3 v Instagram

A = Java

Question Number : 3 Question Id : 5861806709 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ged H A9 RER TafT ereel #1 v TR G maw #1 Ru v feedt # @ 5% aeg & oA YOS
wod H U 717 el ¥ FAWAT @ 2, AR IRumAEwT 38 7Hg § T 2
PagT : wgreaey : fiFssa

Options:




Question Number : 4 Question Id : 5861806710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given

numbers and hence belongs to the same group.

196 : 256 : 324 :
Options:
1. = 180

? % 225

3. % 169

4.« 400

Question Number : 4 Question Id : 5861806710 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

g H i WER TEOT Tt # s wRg e wman ¥ v ae fwedt F @ 3@ wEa #ogAe H+
ST weT H & TR TEAT W WA WA 8, AR TRy 39 w6g § wafUa g

196 : 256 : 324 :
Options:



1. =« 180

2 % 225
3 % 169
4. « 400

Question Number : 5 Question Id : 5861806711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Rifle, Pistol and Machine Gun?
Options:

1. & Power

? % Sword

3. « Cannon

4. » Gunpowder

Question Number : 5 Question Id : 5861806711 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

o & ¥ 7 T ey I=ed, e 3k 7fs =9 & g3 @ar 27

Options:

1_&3%[%‘?



Question Number : 6 Question Id : 5861806712 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:

1. = Hare— Burrow

7 w Lunatic — Asylum

3 x Eskimo-—Igloo

4. & Cow-—Den

Question Number : 6 Question Id : 5861806712 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A TR oreg HAE fov e B, Od @ A weg o avw # e ar e i & wefeT B s
H HET AT @S S A THE FT [ Ihed T4

Options:

1. = @ - f&er

7. % YETS - YETAETE]



Question Number : 7 Question Id : 5861806713 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Pointing to a lady in a photograph, Veena said. “Her father’s only son’s wife is my mother-in-law™. How is Veena's
husband related to that lady in the photo?

Options:

1. v Nephew

? % Uncle

3 % Son

/. = Father

Question Number : 7 Question Id : 5861806713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FER H T Higer H AR FART FA gU, AT F FEl, "5HH Oar F THRAN 9 H g A 7"
2 E1r F 9 37 BT aer #iger ¥ FIr g9y &7

Options:
1. v &d=T
2 % ==



Question Number : 8 Question Id : 5861806714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
My school is in the East of my house. Temple is North of my house and Market is South of my house. If all are at equal

distance from my house. in which direction the Market is with respect to the School?
Options:
1. = East

? « South — West
3. % South

A = West

Question Number : 8 Question Id : 5861806714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AU TS A o g7 Rew & g, AT AY av 7 seaw far # T A sew A ov & fFor e A 7
IR T FN A WY FAF g W, A ISR, Tpe & "Eg H R o &7 P 7o

Options:

1. ®

(2%

2. o G - 9REA



Question Number : 9 Question Id : 5861806715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Sachin, Sahil, Sandhya, Sani. Sanju. Saurabh, Shweta and Sunil are sitting around a round table in the same order for

lunch at equal distance. Their positions are Anti-clockwise. If Sandhya sits facing East, then in which direction Saurabh
is facing?

Options:

1. #= North - East

? « North - West

3. % South - East

/% South - West

Question Number : 9 Question Id : 5861806715 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TR, Wfgel, FeAT, WeA, §, WieT, &3ar 3R gl e &7 e e & T 38 w7 7 ve e
IMFT MBI T TS AT FsAEl R E ARG aF &L T
wiest a7 HE ow feam & @2

Options:

Question Number : 10 Question Id : 5861806716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sheet of paper in fig X is folded to form a cube. Which will come opposite to face showing %?

&
— f
+ %
*
X
Options:
7 ow %
3.v —
4 = &

Question Number : 10 Question Id : 5861806716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT X & Fa 7 vF ofic F AZH UF O 997 T g1 SHAT S J9T % TWT W@ §, 38F O
ole g

Options:



Question Number : 11 Question Id : 5861806717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Children A, B. C.D. E, F and G are standing in a line. F is to the left of A and right of B. D is between G and B. E is
standing left of C and G is right of C. Who is standing at the fourth right of C?

Options:
1.« F

Question Number : 11 Question Id : 5861806717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A B CDEF3NGTEA FFAIN AT F AFTES N TIBF AL AT T g1 D, G 3B
ST FTIT LT E, CFaw T £ 3N G, C ¥ 2w @z ¥l C & = Td X g 3T FiT @1 372

Options:

1. v F



Question Number : 12 Question Id : 5861806718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S. T.U. V., X. Y and Z are sitting around a round table for group discussion. T is sitting third to the right of S and
between U and Z. Z is sitting third to the right of Y. V is sitting right of X. What will be the position of T?
Options:

1. = T issitting second to the left of U

2 T issitting between Y and X
3 Tissitting third to the left of V

4. » T issitting third to the left of X

Question Number : 12 Question Id : 5861806718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STUVX YRz Ao eaa s v i F I INBE T, SFa T
T R UNR ZF I A ST Z, Y F gF ¥ I8 TIF W 37 g1 V, X & 8 B HT 37 ¢
T i =T Far gefe

Options:

1 % T, UFH T AW T RIS g



2 ¢ TYIRXFITH TR

3. v T, V& T H A T 9T IS8

4« T, XFICH I TIT WIS ¢

Question Number : 13 Question Id : 5861806719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L Doby is sister of John and John is brother of Shreya.
II. Shreya is daughter Jones and sister of Jani.
III.  Jones is father of Doby.

If the first two statements are true, the third statement is:
Options:
1. = Tre

? % False

3 x May be true

4. « Uncertain

Question Number : 13 Question Id : 5861806719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



. =T, St fr 927 & AR ST S F oA 2
Il. 8@, ST T 947 3R A Fr 587 2

Il. =g, sier & far &
IfE ugel & FuF T g, ar O FUS FAT e

Options:
1. = T
2. w AT

3. » BT @ HHaT 8

4. » uRa 7@ = g

Question Number : 14 Question Id : 5861806720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Anas. Bipin, Chandan. Dev, Easa and Fatima are friends. No two friends are of the same age, but all have birthdays on

the same date. The yvoungest is 23 years old and the oldest is 28 years. Easa is somewhere between Chandan and Anas.
Dev is older than Bipin. Fatima is older than Chandan. Anas is oldest and Chandan is youngest among all. If Fatima is
younger than Bipin. Bipin is younger than Easa. Dev is older than Easa. Then Which of the following is true?

Options:

1. % Bipinis 24 years old.

2 Easais 26 years old.

3 % Chandan is 25 years old.



4. » Fatimais 27 years old.

Question Number : 14 Question Id : 5861806720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3w, T, Fea, &g, $ur ik wifaAr aeg &1 FE off & ST THEA 37 F A5 &, oo wef &
FeHRH T & diiE F A’ g1 SAH TIY BT Afed 23 el &7 3T FEY 957 28 "I FT g 4T #r
37 Te AT 3FE & wér &= 7 g1 37 T ¥ 59 ¥ wfaAr 96 ¥ 997 §1 39 §ew g9r § AN
T A ot TR e R s o g s Rim s a oot ik g sar a sar ¢,
o A= 7 8 9 o Fua T 7

Options:

1 « = Hrsm24 T

> o SETEI3H 26 WA E

3. x W& & 3H 25 WA g

4. » ICHAT N 3H 27 A &

Question Number : 15 Question Id : 5861806721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What will be the water image of?

Options:



4 v

Question Number : 15 Question Id : 5861806721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &1 Fa- ofF (IR /) FiT Ir e

Options:



Question Number : 16 Question Id : 5861806722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are the criteria to recruit a Teacher in a college:
[.  The Applicant must be science post graduate with 75% marks.
II. Have his / her age in between 25 to 32 years as on 10-05-2019.
I1I. Have minimum 3 years’ experience in Teaching.
IV.  Be ready to join 2 year probation.
If a candidate satisfies all the criteria except.

i. at 1T above, but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more
than 5 years and more her / his case is to be referred to the Vice President.

ii.  AtIV above, but master degrees with minimum 60% marks, her / his is to be referred to the President.

A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data

given above, mark the answer.

I. Salil is a B.Sc. Graduate with 80% marks and has completed PG in History with 70% marks. He completed 27
years of age in 2017 and has 6 years’ experience as a Mathematics Faculty. He is ready to join probation period
of 2 year.

Options:

1. % Ifcase is to be referred to President.

? % If case is to be referred to Vice President.



3. = If candidate is to be selected.

4.« If candidate is not to be selected.

Question Number : 16 Question Id : 5861806722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF Fal H Bt fr ot Fa F B el aass fufe e o §
. HIEEH 75% 3ol & Ty BT el g gl
I HI9Ea @I 35 10-05-2019 &r 25 | 32 T & &7 a1 =MgC|
. ATEEeH & ITH #IATH 3 HI HT NS0T AT g =g
v. T 2 TS I TEmET HTG (probation) & T FgaT g9 TRET|

.7 98 TR T A=EsT # ¥ |l F mEr @ Awest # 9 FGT §, dAfed gHaq 72% A &
T Fol T 0T H TAGF § AR 3TF 79 5 T ¥ 30F F FOgea g O 305 AFA
3UTEET & 9TH IS FTT

i.7fg 97 IR T AEE A § IV & Hemar @1 AWEST I U HAT g, ofehed J8 7gadH 60% et
F T TATTRca] By 8, a7 3He ATHe & 3»eT F 9rg &= A1)

A fGT 7T goF H TF 3HeF F IR A Fo e & 78 7l Fefaila Feey F s o S
F9Y BT 91T 37 W Id g, HET 3ca< & 9T S|

I TS & 80% 37 & @Y B.Sc. (Frvwdl) T=aw T 70% 3Fr & @y #REE 7 F=aeeR
forar &1 389 2017 & 27 @ &7 37 I ¢ oF § 3R A0 T 7 6 /e S T 9o
fomar &1 98 2 Trer & afEeT 3eEfa & B g g

Options:
1 » UE HATHGT 3HeTET & I HAT AT

2w TE ATHGT IUTCHET & ITH ST ST

3. x F9 3FAER F T34 fFar smeem)



4. » F9 3FAICEAR F ThS A6 fhar Seem|

Question Number : 17 Question Id : 5861806723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTIHT 3H, HTHr AT 7 37 T 10 T &7 & TorTedr 35 398 Oar ¥ 5 O &7 g e 3m9s Rar
&Y 37 45 " g, ar AT 37 TFaer geie?

Options:

1. = 20 @
2. = 15 @
3« 10 @
4. = 5@

Question Number : 17 Question Id : 5861806723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Your age is 10 years less than half your mother’s age who is 5 years younger than your father. If your father is 45 years

old, what is your age?
Options:
1. = 20years

7 % 15 years

3 v 10 years



Question Number : 18 Question Id : 5861806724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: The ground water level is decreasing day by day and creating big water problem in many parts of India.
Decisions:
I: Water harvesting should be promoted to control such problem.

II: Bore well should be closed.
Options:
1. « ©OnlyI follows

? % BothIand II follow

3 % Neither I nor II follow

/. % OnlyII follows

Question Number : 18 Question Id : 5861806724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T Fua & ag g sy |, 3R 1 U o €1 s s S uiadr &7 AW ¢ AR R TE
frifia &t & & a=f 7 & i @ oy aoda &9 § HE0T F &

FUA: 9RA & F5 GEAT H 7 TR & - wfafea B @ & 3R so@ o & 92 waea 3o @ W@
gl

ICA= K
I: gFEET & SUeor & T S 999 & seEr &I A =Egwl
Il: SE ¢ T 3 =R

Options:

1 v el | FTETUT LAl g

5 x| AT 11 et HTEOT A B



3 x 7 ar | 3T F 8l 3FTET AT §

A« el || 3THIOT LT §

Question Number : 19 Question Id : 5861806725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the

statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.
Statement: Now a days cinema halls are incurring huge losses as people are watching movies at their home.
Decisions:

I: Cinema Halls should be closed.

II: Seeing movies at home should be banned.
Options:
1. » OnlyIfollows

? % BothIandII follow

3« Neither I nor II follow

4. % OnlyII follows

Question Number : 19 Question Id : 5861806725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T RtFm s T I Rr e ATt e A S T wf ag = €
3R T 77 TreifE o & & o # @ FiF @ oy SRS 79 ® HTE0T R

FUT: AN A FTH W W & oA qmer oF = A B, Bw FRor ¥ anewer fear g sl me A
gl

e

I: =ar g7 9 FT & TR

IIl: o 97 fihed @« WX 9iaeel o&mar SaT =nfgv)

Options:

1 u S| HEIOT A E

5 x| I 1l g 3TEOT A §

3 %?,HFﬂ'|3'ﬂTF|'Eﬂ'”31u;+HU|=h-{d|%

A« el || 3THIOT T §

Question Number : 20 Question Id : 5861806726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: There are huge numbers of people affected by air pollution caused by thermal power plant.
Decisions:
I: The power plant should be shifted from the city.

II: There should be a protest in front of power plant.
Options:
1. « OnlyIfollows

? % BothIand II follow



3. % Either I or II follow

4. » OnlylII follows

Question Number : 20 Question Id : 5861806726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I U Fya F ag o oy | i I Ru aw §) v FEar T Fua 7 & 5wt 99 wew §
3R T 77 freifa = & & et & @ Fia F e aFEed T ¥ 3T = E

FUM: YA TR AT & FROT g a1 I FSHUT F A HEAT F AT w0 @ @ E
forsad:

l: IR eE # AT F g TUAERT AT S g

l: 9TaT Tde F WHEA @Oy weR & e =g

Options:

1 v Fael | HFJHLOT AT §

5 x| AT 11 Gt HTEOT A

3w TA] AT I HFEIOT A ¥

4 = Fael || HTEIOT LA §

Mental Ability?2
Group Number : 2
Group ld: 586180323
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 586180327

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180454
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861806727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are in the figure?

Options:

1. = 22

? % 23

A4 = 30



Question Number : 21 Question Id : 5861806727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et wgfa & fFae e &2

Options:

1. = 22
2 % 23
3. v 28
4 = 30

Question Number : 22 Question Id : 5861806728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code of the words ‘COMEATONCE’ were written as XLNVZGLMXV. In the same code, which of the
following would be written as OK?

Options:

1. =« LM

2. v LP



4 & KM

Question Number : 22 Question Id : 5861806728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T# e #1F § 'COMEATONCE' &I XLNVZGLMXV & &7 & for@r oar g1 38 &8 #, OK & &g
9RT T @ Fmwem?

Options:

1. = LM
2. v LP
3. = KL
4 = KM

Question Number : 23 Question Id : 5861806729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four letter clusters are given out of which the three letter clusters bear a certain common relationship. Choose the option

in which the letter clusters are differently related.
Options:
1 o GKOT

7 % FINR

3 % UYCG

4 % EIMQ

Question Number : 23 Question Id : 5861806729 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
A =) e g U o §, Oed @ @ el wag oW # R A e afe ® wefoe € amw
# FEY AT @ T BN FHAE H I

Options:
1. v GKOT
2 % FJNR
3« UYCG
4 = EIMQ

Question Number : 24 Question Id : 5861806730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four numbers are given out of which the three numbers bear a certain commeon relationship. Choose the number which

is different from others.
Options:

1. % 209
? % 247
3 % 323

4 v 221

Question Number : 24 Question Id : 5861806730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR gET & i ¥, e @ O et & @9 o e e ¥ 3w @ B dew # ogee
cxy

Options:



1. =« 209

2w 247
3. % 323
4. v 221

Question Number : 25 Question Id : 5861806731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four figures are given out of which the three figures bear a certain common relationship. Choose the figure which is

different from others.

O

Options:

1. =

><
><
O

4, = X'O

Question Number : 25 Question Id : 5861806731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WA # IR FHaar & 7 § Twd & O et & 9 v @fteg gmew dEy 3 v sty
TAT F



Options:

@)
‘|_$¢>'<
><

O

.. X
.. Ko

Question Number : 26 Question Id : 5861806732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

VEGETABLES, CAULIFLOWER, MEAT
Options:

Qe



2. %

3. %

Question Number : 26 Question Id : 5861806732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiT T 3 3@, RBE 70 Fof F FgeaT # 7gaw 3= alF ¥ i
afeorar, Msh, 7

Options:

Qe



Question Number : 27 Question Id : 5861806733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

DOCTORS, BROTHERS, MALES

Options:

[
B



DO

3.

OR@

Question Number : 27 Question Id : 5861806733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiT T 3 3@, RBE 70 Fof F FgeaT # 7gaw 3= alF ¥ i

SIaCY, TS, T

Options:

1. =



OO

3. ¢

O~

Question Number : 28 Question Id : 5861806734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If ‘A - B means A is mother of B, ‘A $ B°, A is sister of B, ‘A (@ B’ means A is father of B and ‘A=B" means A is son

of B.

IfR @ S - O =P, then how R is related to P?
Options:
1. » Nephew

? % Son
3 % Brother

/. « Fatherin law



Question Number : 28 Question Id : 5861806734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A-BHmATA BHF ATE, ASB 3T ABFragag A@B F3rA Bar Rarg
A = B & 3 A B & IF ¢

ITER@S-0=P% @R, P& 5§ vox & §afiT 27

Options:
1. = &=
2. % e

Question Number : 29 Question Id : 5861806735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shahini and Mohani are sisters. Dev and Anu are brothers. Dinesh is husband of Manju and son of Jyoti. Dev is son
Jvotij and Jyoti is mother of Shahini. How Mohini’s father is related to Jyoti?

Options:

1. « Son

? s Brother

3. = Father

4. «+ Husband

Question Number : 29 Question Id : 5861806735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i 3R AR T &1 a7 3R ag o 1 RSy A w1 afy sk oy = der €1 aw oy oA
g 3 Fofa anfee & &7 &1 Afge & e & =Y § Far gev 27

Options:

1. % &

Question Number : 30 Question Id : 5861806736 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If ‘P * Q" means P is father of Q, ‘P % Q’, P is daughter of Q, ‘P # Q’ means P is mother of Q and ‘P = Q" means Q is
son of P.

IFM#N %O *R* S, then how M is related to R?
Options:

1. = Brother

? % Son

3. % Father

4.« Mother

Question Number : 30 Question Id : 5861806736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEP+QFATP, QFR VT EPUQ FTHATP, QF T T PHQ A HT P, QFr AGT &
IRP=Q&aTE Q P& IF &l

TREM#EN% O+«R=+S g arMRT FE gy & gafog &2



Options:

Question Number : 31 Question Id : 5861806737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are some boys and dogs at a place. If total number of heads is 7 and total number of legs is 20, how many boys
and how many dogs are there?

Options:
1. = 2boysand5 dogs

2  3boysand 4 dogs
3  4boysand 3 dogs

/. % 5boysand 2 dogs

Question Number : 31 Question Id : 5861806737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH SFE W FO a5+ AN O Pod 81 e BT # For FEwm 7 § 3 R For FEA7 20 §, aF @
R frae 7% AR frae Fea B2

Options:

1 x 27 AR5 P



Question Number : 32 Question Id : 5861806738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code WOOL is written as 172, How will be SNAIL written in that code?
Options:
1. = 200

7 % 310

3. v 400

A % 175

Question Number : 32 Question Id : 5861806738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordr 15 # WOOL =t 172 for@r Jrar €, 39 &8 & SNAIL =7 =3 forgr Jmwem?

Options:

1. = 200

2 % 310



3.« 400

4. » 175

Question Number : 33 Question Id : 5861806739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following pairs of signs, when their positions are interchanged. will correctly solve the given mathematical

equation?

Options:

1. v ~and>
? % +and+
3 % +andx
A = +and-

Question Number : 33 Question Id : 5861806739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fafaf@a & @ i O geast 7 Rl & AR, 396 Tufaat #F W sea T = @,
fer av aford gAeIor Fr H@E T T FF FE?

15+ 10-26+6 x5 =-5

Options:

1. v = 3R x



Question Number : 34 Question Id : 5861806740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given

mathematical equation?

20-4%x10+-28-14=-6

Options:
1. = 20 and 10, — and —

7 o 14 and 20, — and

3 s 14 and 28, x and +

4. « 4and 10, +and -

Question Number : 34 Question Id : 5861806740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faf@g & O 9 O gearst 7 Bl & 2, 396 Tufaat s ooy seq R s o,
faw av Aforhr wHEEuT Fr A ST T FT FE

20 +4 x 10 +28 - 14 = -6

Options:



1. = 20 3R 10, + 3R -

2« 14 3 20, - 3T x

3. » 14 3 28, x 3 +

4. v 4310, + AT -

Question Number : 35 Question Id : 5861806741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If vou write down all the numbers from 1 to 50, then how many times do you write 4?
Options:
1. = 11

3. = 13

4 & 15

Question Number : 35 Question Id : 5861806741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE 3T 1 ¥ 50 g Fr m@f gt Fr fwg £ O 3 4 #+r o e e

Options:

1. = 11



4. v 15

Question Number : 36 Question Id : 5861806742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out

the odd one.
Options:
1. «» Halogen

? % Chlorine

3 % Bromine

/. = Astatine

Question Number : 36 Question Id : 5861806742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A =X oeg BT 7w ), Toed @ 7 o oY &1 B 9R ¥ H9" # AT @ 8, Feie =T
e H=T ear H 3o T g vy &7 =37 &

Options:

1. v ==

2w FeNA



Question Number : 37 Question Id : 5861806743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In problem, out of four figures marked 1. 2. 3 and 4, three are similar in a certain manner. However one figure is not like

the other three. Choose the figure which is different from the rest.

Answer Fig.

TVIMOIR | FIGMENT | EICWFIAL| INIWI

Options:

1. = 1

2.% 2

3.v3

Question Number : 37 Question Id : 5861806743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I BT ate ged #, AR gt 1, 2, 3 R 4 & e F o wvw # B & Bl veR @ mEaa
T g1 grenfer T Aepfa e |l § 39T g1 3T ¥ Bew ampfa F gAa F

FeeR APl

TVIMOIA | FIGMENT | EICWFWL | LNIWOI

l 2 3 4
Options:
(R
2 x 2
3. v 3
4, = 4

Question Number : 38 Question Id : 5861806744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

27.28.26,.20. 257
Options:
1. = 29

? & 30

3. = 31



4 = 32

Question Number : 38 Question Id : 5861806744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S 87 I ST H 39 [eed F IUS H S el & T [eg (?) T Feg o oreem)

27, 28, 26, 29, 25, 7

Options:

1. = 29
2. v 30
&3 o= 31
4 = 32

Question Number : 39 Question Id : 5861806745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

2157, 108, 22Y, 2
Options:
1. = 285

7 % 301



A % 412

Question Number : 39 Question Id : 5861806745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S 87 I ST H 39 [eed F IUS H S el & T [eg (?) T Feg o oreem)

21, 54, 121, 2317

Options:
1. % 285
2« 301
3. v 365
4. = 412

Question Number : 40 Question Id : 5861806746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One term in the number series is wrong. Find out the wrong term.

6, 8. 14, 22, 30, 42, 54
Options:

1.~ 8

3. % 30



4 = 42

Question Number : 40 Question Id : 5861806746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 3T TT H@N H Tk U ITed gl oI I FT IaT o]

6, 8, 14, 22, 30, 42, 54

Options:
1. v 8
2 u 22
3. = 30
4 = 42
General Awarenessl
Group Number : 3
Group Id: 586180324
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl1
Section Id : 586180328



Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180455
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5861806747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A. G. Tansley is associated to

Options:

1. = Cardiology
2. v Ecosystem
3. = Green Revolution
4. = Education

Question Number : 41 Question Id : 5861806747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI dHe, g gerad gl

Options:

1. » §&g T A (FIsATala)
2. v IIaT

3. = T HIa

4, = Teref

Question Number : 42 Question Id : 5861806748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Silent Valley National Park is situated in:

Options:

1. v Kerala
2. « Karnataka



3. » Uttarakhand
4. = Madhya Pradesh

Question Number : 42 Question Id : 5861806748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dTEeic doll TSI 3egTel 7 Tua &

Options:

1. v el

2. = hellceh
3. * 3ccIE3
4. % FET U

Question Number : 43 Question Id : 5861806749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A new species of Frog named ‘Mysticellus’ has been
discovered in which of the following sites?

Options:

1. = Purvanchal

2. » Andaman and Nicober
3. = Eastern Ghats

4. v Western Ghats

Question Number : 43 Question Id : 5861806749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feT 7 8 oFT TUTd 9T Ageh T TF @15 Tollia Ao

ST TdT ol#T AT &7

Options:

1. = qarae

2. = 3EHATA 3T faepiam
3. = ydl a1




4. v 9iggET 91e

Question Number : 44 Question Id : 5861806750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Who said, ‘Earth provides enough resources to satisfy the
every man’s need, but need every man’s greed’?

Options:

1. v Mahatma Gandhi

2. = Rabindra Nath Tagore

3. = Vinobha Bhabe

4. = Sardar Vallabhbhai Patel

Question Number : 44 Question Id : 5861806750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forgrel shgT oT, 'e’dl, Tcdsh HsT hT INARYRATT [T Flal &
fere qaTcd TaTda 3Uelsel FI Fehall &, olfchel Tcdsh AT &
CIEEERCLGHI

Options:

1. v AGICAT T

2. » {dleg ol &I

3. = aetrs ame

4, » TIER deadATS Ucd

Question Number : 45 Question Id : 5861806751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the theme for 2019 World Heritage Day?

Options:

1. ¥ Rural Landscape

2. » Urban Landscape
3. » Digital Data Conservation
4. = Textile Marketing



Question Number : 45 Question Id : 5861806751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 faeg fovrad faaw &1 Ao faw (hA) a1 &7

Options:

1. v TTAT qRTe

x QUEYT TRy

« T3TSieer sTer avefor
4. = FUsT fAuora

Question Number : 46 Question Id : 5861806752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the author of the book titled “‘Where Will Man take Us’?

Options:

1. = Chetan Bhagat
2. v Atul Jalan

3. = Paulo Coelho
4. = Rabindra Jain

Question Number : 46 Question Id : 5861806752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3N Taer T ¢F 3 YAk K AWF Rl §7

Options:

1. % TUdel HIT

2. v 31@391 IRIG

3. = U3cll HIgeal

4. % T@leg o

Question Number : 47 Question Id : 5861806753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The name of the naval bilateral exercise between India and
Vietnam
1S:

Options:

1. » VARUNA

2. » IN- VIT- BILAT EX
3. = INTAX

4. v IN-VPN BILAT EX

Question Number : 47 Question Id : 5861806753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT 3R Taaard & o Gausii die 37991 T 1A
gl
Options:

1. = THUOT

2.« g - fae - dmETavdr vEd (IN - VIT - BILAT EX)

3. = zagEd (INTAX)
4. v zoF - AU - AIMETATE v (IN - VPN BILAT EX)

Question Number : 48 Question Id : 5861806754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which soclal media site has launched the new feature titled
‘Why am I seeing this post’?

Options:

1. = Twitter
2. v Facebook
3. = YouTube
4. » Pintrest

Question Number : 48 Question Id : 5861806754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fore Arerer HIf3AT A3 o B VA 3 A5 58 9e ATHS
% faeyar ot e

Options:

1. = f¢aed

e

2.JW
3. « eI

4. = TOeigee

Question Number : 49 Question Id : 5861806755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Para-military force under the Nizam of Hyderabad
during the period of accession of Princely states was known
as:

Options:

1. = Pahalwans
2. v Razakars

3. » Nayakas

4. = Prativedakas

Question Number : 49 Question Id : 5861806755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rarad T=AT & HTAAST & NIl gedldle o Tololld & 3 -
e Tl Fr F JTH & SATaT SIaT 27|

Options:
1. = Ugeldlel
2. v LSTehY

3. = dldeh

4. = giddeeh

Question Number : 50 Question Id : 5861806756 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

In November 2017, Grant Thornton released its International
Business Report (IBR). In this report, India occupied the
slot in ‘Global Business Optimism Ranking’ in the September-
November quarter period of the year 2017.

Options:

1. = 3rd
2. » 5th
3. = 11th
4. v 7th

Question Number : 50 Question Id : 5861806756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dgeY, 2017 H, ATe UTelesd o HYaT ST sFaIded Nae
(IBR) ST 1l 39 RO &, a¥ 2017 # A - agsw AR
3afy & ‘Tolad Soew Mitefdem Ifrar & sIRa &

Tl vred TR

Options:

1. = e
2. = qrar

3. = IYIET
4. v a4l

Question Number : 51 Question Id : 5861806757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Humayun Nama was written by:

Options:

1. v Gulbadan Begum
2. = Jahanara Begum
3. » Hamidabanu Begum



4, = Roshanara Begum

Question Number : 51 Question Id : 5861806757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EATY SATAT garT fer@r I
Options:

1. v Felegs S9TH

2. % SIEIART S97H
3. = gHEETE STH
4. % LeTART SITH

Question Number : 52 Question Id : 5861806758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a section of the Mahabharata?

Options:

1. = Shalya Parva
2. » Adi Parva

3. = Shanti Parva
4. v Sthala Parva

Question Number : 52 Question Id : 5861806758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeT # O a7 O1 AGTHRT T TS o6l &7

Options:

1. = o6 U9
2. % 3¢ 99
3. » ofad 19
4. v TIT 99

Question Number : 53 Question Id : 5861806759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which Article of the Indian Constitution gives special status to
Jammu and Kashmir?

Options:

1. = Article 268
2. = Article 324
3. v Article 370
4. = Article 79

Question Number : 53 Question Id : 5861806759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO OideTeT T ki @ aagniiq SIFH, UG AR @ faey

ZT WETel HIdT &7

Options:

1. = 3elcoe 268
. » 3efeose 324
.JWS?D
. * 3eIedg 79

Question Number : 54 Question Id : 5861806760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chakravarti Rajagopalachari, was popularly known as :

Options:

1. = Chachajl
2. = Guruji

=~ W N

3. = Balaji
4. v Rajaji

Question Number : 54 Question Id : 5861806760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tshadl ITSTINITATIT SRl F SROT TTH T STelT ST
AT




Options:

1. = <T=ITSIT
2. = IESIl

3. = STellall
4. v TSITST

Question Number : 55 Question Id : 5861806761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Electoral Reforms in India what does ETPBS
stand for?

Options:

1. v Electronically Transmitted Postal Ballot System

2. = Electronically Transferred Payment Ballot System
3. = Electronically Transposed Payment Ballot Scheme
4. = Electronically Transported Polling Booth System

Question Number : 55 Question Id : 5861806761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # fograer gurl & dgst & ETPBS &7 41 319 87

Options:
1. v Zolaciiadel CIAHCS TIEcd Selc aTcH
2. % Soldcllaichell ¢EHS UAC dolc OEeH

3. » Zoldcilalcholl AU UHC Solc Thid

4. = Folagiiolholl CrEAIES TiTeldl g2 fAEcH

Question Number : 56 Question Id : 5861806762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following rights was described by Dr. B.R.
Ambedkar as the heart and soul of the Constitution?

Options:

1. = Right to Freedom




2. = Cultural and Educational Right
3. v Right to Constitutional remedies

4. = Right against Exploitation

Question Number : 56 Question Id : 5861806762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A7 O g TR Y 81 SLANT,. 37FNSHhd of iadTe &l
g 3T AT Far ar?

Options:

1. » TIIAAT T ATTFRR

2. = GrEpideh 3N Aefforh TR
3. v §AYTTae 3UART & TR
4. = MY & OFg HTAFN

Question Number : 57 Question Id : 5861806763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Articles 239-241 in part VIII of the Indian Constitution deal
with :

Options:

1. v Union Territories

2. » Powers of President
3. = Foreign Trade

4. = Powers of Lokpal

Question Number : 57 Question Id : 5861806763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR Figerer & A7 VI # 3iese 239 - 241 q
SEIBCEY

1. v ggenad &89



2. = {SCUfT & AHTFRR
3. = Tacer =R
4. % STl o HTAFR

Question Number : 58 Question Id : 5861806764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Article of the Indian Constitution deals with the
composition of Election Commission?

Options:

1. = Article 234
2. » Article 342
3. v Article 324
4. = Article 250

Question Number : 58 Question Id : 5861806764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO OiaTel sRT ke @1 31311»93(1 feraT=rel 39T & 36eT &
SR

Options:

1. = Helcoe 234
. * 3afeode 342
.Jw324
. » 3y 250

Question Number : 59 Question Id : 5861806765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has been selected as the new Hockey Coach of Indian
Men’s Hockey Team in 20197

Options:

1. * Ric Charles Worth

=~ W N



2. » Roelant Oltmans
3. v Graham Reid
4. = Trent Eigner

Question Number : 59 Question Id : 5861806765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 A #RATT &SI HT glehl ETH & 7T glehT Il o &9 H
forat etr arT?

Options:

1. » s TTeg

Question Number : 60 Question Id : 5861806766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won Chinese Grand Prix 20197

Options:

1. v Lewis Hamilton
2. » Valtteri Bottas

3. = Sebastian Vettel
4. = Charles Leclerc

Question Number : 60 Question Id : 5861806766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qTgeitel A8 WFT 2019 fohae Siar?

Options:

1.%@%}?%‘@@
2. = gleed e

3. = OgEcge dgal




4. » ey olFolh
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Question Number : 61 Question Id : 5861806767 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Who won Women'’s Final at Australian Open 2019?

Options:

1. = Petra Kvitova

2. * Serena Williams
3. » Karolina Pliskova

4. v Naomi Osaka

Question Number : 61 Question Id : 5861806767 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



IEETORITE 39 2019 H ATEATIT T WiSaTol Tohded SIaT?

Options:

1. = 9er feaamar

2. « W Tafelgay
3. * FllaT TCereeniar
4, v ATHAT 3GTRT

Question Number : 62 Question Id : 5861806768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vyasa, the author of the great epic Mahabharata is believed to
be the Son of:

Options:

1. v Parasara
2. * Gautama
3. » Sukracharya
4. = Vasishtha

Question Number : 62 Question Id : 5861806768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ABTHRT &hIed & ol@esh I & 9T A S E

Options:

1. v TR
2. = JdH
3. * YR
4. = TS

Question Number : 63 Question Id : 5861806769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

To which Musical Instrument Ustad Alla Rakha was
associated with?

Options:



1. v Tabla
2. ® Santoor
3. % Veena
4. = Shehnal

Question Number : 63 Question Id : 5861806769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3EdG ool (T fohd HelIT areg & Herad o7

Options:

1. v ddell
2. « T
3. = QoM
4, = AEATS

Question Number : 64 Question Id : 5861806770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rani-Ki-Vav (the Queen’s Stepwell), the World Heritage Site is
situated in

Options:

1. = Uttar Pradesh
2. v Gujrat

3. * Punjab
4, » Maharashtra

Question Number : 64 Question Id : 5861806770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fareq TATTE el Tl - T - ard (Tl T FEER F3)
H Fua &l

Options:

1. % 3cdd uder



Question Number : 65 Question Id : 5861806771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Great Barrier Reef is situated at:

Options:

1. = Brazil
2. v Australia

3. » Indonesia
4, « Maldives

Question Number : 65 Question Id : 5861806771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

&r A T v 7 g &

Options:

1. = STailel
2. v 3irecferT
3. » SBLAAT
4. % ATRIT

Question Number : 66 Question Id : 5861806772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Scientists have described a new species of reddish-brown
pit-viper, a venomous snake with a unique heat-sensing
system from a forest in

Options:

1. * Tamil Nadu
2. % Sikkim



3. = Kerala
4. v Arunachal Pradesh

Question Number : 66 Question Id : 5861806772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATiaAshl & Tk 3Te@dId d19 - Gaal YoTlell dTel A¥e @9 olel
- oY e - aEW & 75 vaTa @l §, S & T H
TS IS |

Options:

1. = dMACEg
2. = TAfdaa

3. % hidl

4. v SO ULl

Question Number : 67 Question Id : 5861806773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The New Alluvial Soil is known as

Options:

1. = Bhangar
2. » Taral

3. = Bhabar
4. v Khadar

Question Number : 67 Question Id : 5861806773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 oTelle fHedr hgelrdl &l

Options:

1. % HTIX

2. % TS

3. % #HST




4. v @I

Question Number : 68 Question Id : 5861806774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following bank has the tagline ‘We Understand
Your World™?

Options:

1. = ICICI Bank
2. v HDFC Bank
3. = HSBC Bank
4. = IDBI Bank

Question Number : 68 Question Id : 5861806774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farT 7 O org S 1 doranssT & - 'BH GHSIT & 3TUeRT
::g ?

Options:

1. = TSATHSAINS S
2. v UEIURAT S
3. = UIUHEET Sh

4. = ESEIE deh

Question Number : 69 Question Id : 5861806775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who amongst the following is the first Governor of Reserve
Bank of India?

Options:

1. v Osborne Smith

2. = James Taylor
3. » CD Deshmukh
4. = Benegal Rama Rau



Question Number : 69 Question Id : 5861806775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # & Sid, IO Nold S T TTH T AT?

Options:

1. v 3Eae T T
2. » SIFF Col

3. = @ I derAE
4. = daAdrel TAT T3

Question Number : 70 Question Id : 5861806776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Economic Survey for the first time introduced a new
chapter entitled ‘Sustainable Development and Climate

Change’?
Options:

1.+~ 2011 -12
2.% 2013 -14
3.% 2015 - 16
4. = 2017 -18

Question Number : 70 Question Id : 5861806776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer 3R TARTOT A Ugell TR 'ORUNY 3 Ua Sfeldry
gade fiYer @ T J37 ey SST IAT?

Options:
1. ¢ 2011 - 12
2. = 2013 - 14
3. = 2015 - 16
4. = 2017 - 18



Question Number : 71 Question Id : 5861806777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Herpetology is the study of :

Options:

1. v Reptiles and Amphibians
2. » Bones

3. = Elephants

4. = Flowers and creepers

Question Number : 71 Question Id : 5861806777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L TAII ] T eI &l

Options:

1. v ST 3R 38R
2. = 3ifeerT

3. = gl

4. % ol 3R ofcw

Question Number : 72 Question Id : 5861806778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following does not react with cold water?

Options:

1. = Potassium
2. v Magnesium
3. = Sodium

4. = Calcium

Question Number : 72 Question Id : 5861806778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed [Ahed & & i @1, Aide o & HTATHAT dAal
FIAT?

Options:




4. = RTcRTTH

Question Number : 73 Question Id : 5861806779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a bi-focal lens, the lower part of the lens is :

Options:

1. = Plane

2. = Concave

3. v Convex

4. = Progressive

Question Number : 73 Question Id : 5861806779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feg - WIhel oled #H, oled T Taell HIE BIcT &

Options:

1. = HHdel

2. = 3adel
3. v 3cdol
4.  YETAT (M)

Question Number : 74 Question Id : 5861806780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first to use a prism to obtain the spectrum of
sunlight?

Options:

1. * Henry Moseley
2. = Christian Oersted



3. = Einstein
4. v Sir Isaac Newton

Question Number : 74 Question Id : 5861806780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugoll O TUSH T 3UANT ek I & Yhrer T GulshA Tohdel
e fohar?

Options:

1. = gell A
2. » Topieadel 3MUECS

3. = TR
4. v BT 3TEF 7Y

Question Number : 75 Question Id : 5861806781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which technology has been developed by IIT-Kharagpur to
solve the problem of sleepy drivers in Indian Railways?

Options:

1. = Pepltic

2. = Tojo

3. v Chemvist
4, = Zeus

Question Number : 75 Question Id : 5861806781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3od H Al ol THALAT & TET FI3A ohl GILTell hl &l
el & ToIv SIS - TSI SR Fiel AT Tehellsh TR
HT TE7?

Options:

1. = dftees




3. v hAGEC
4. = 9T (Zeus)

Question Number : 76 Question Id : 5861806782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year NASA discovered the eighth planet of the
Kepler-90 Planetary System?

Options:

1. = 2015
2. % 2016
3. v 2017
4. = 2018

Question Number : 76 Question Id : 5861806782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & Topg ¥ el - 90 TE WUl o 3TSd IS hT JieT 7

Options:

1. = 2015
2. = 2016
3. v 2017
4. = 2018

Question Number : 77 Question Id : 5861806783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who coined the term ‘Excitonium’?

Options:

1. ¥ Bert Halperin
2. = Margaret Alvin
3. = Arthur Miller



4, = Jackie Chan

Question Number : 77 Question Id : 5861806783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TFaSe I eeg, fohde Uiadriea forar?

Options:

1. v §¢ o9
2. » AMRRCE Ulede
3. » 3N AR
4, = SpT el

Question Number : 78 Question Id : 5861806784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Western Naval Command is situated at:

Options:

1. » Dwarka
2. » Diu

3. v Mumbali
4. = Panaji

Question Number : 78 Question Id : 5861806784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

giegAr ddfas Fa 7 Tua g

Options:

1. =

1344

2.
3. ¢
4.

Question Number : 79 Question Id : 5861806785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where is the headquarters of International Mobile Satellite
Organisation (IMSO) located?

Options:

1. » Frankfurt
2. v London
3. = Bejing

4. = Lishon

Question Number : 79 Question Id : 5861806785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS A5 Aellse Haraet (IMSO) shT HEATeRI HgT W
e &7

Options:
1. = hehthe
2. v ded

3. = dfeldr
4. = Tolesal

Question Number : 80 Question Id : 5861806786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following country is NOT a member of G-207?

Options:

1. = India

2. » Indonesia
3. = Russia

4. v Pakistan

Question Number : 80 Question Id : 5861806786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # @ Sl @1 22, G - 20 FT ST «IeT &7

Options:




1
2. = ZaIATNT
3. = &
4

.

. v YTTehEdTa

Arithmetic Ability1

Group Number : 5
Group Id: 586180326
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 586180330

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180457
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861806787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(75 + 24)% + (75 — 24)°
The value of is:
6201

Options:



Question Number : 81 Question Id : 5861806787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(75 + 24)% + (75 — 24)°
6201

FT AT AT FL

Options:

3. v 2

Question Number : 82 Question Id : 5861806788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
x+y

If4x+ 5y =192 and = ?,T_hen the value of 3x + 2y is:
¥

Options:
1. « 123



Question Number : 82 Question Id : 5861806788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg 4x + 5y =192 aﬂ'\"x;y=§ g, @ 3x+2y F AT AT Hi

Options:

1. « 123
2 % 132
3w 133
A« 142

Question Number : 83 Question Id : 5861806789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
On a farm, there are 60 hens, 55 goats, 12 horses and some farmers. If the total number of feet is 285 more than the total

number of heads. then find the number of farmers.

Options:
1. = 20

2. 24



Question Number : 83 Question Id : 5861806789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vE @d #, 60 FEFE, 55 Rl 12 913 3K o e § 3k N H 59 s R A g@w s A
285 for g, o frwmat & wear g #Y

Options:

1. = 20
2. v 24
3 ox 22
4. = 18

Question Number : 84 Question Id : 5861806790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs. 3,660 is divided among A, B and C such that A gets E of what B gets and B gets z of what C gets. Then
A’s share is:

Options:

1. ¥ Rs. 360

? % Rs.900

3. % Rs. 460



4 % Rs.600

Question Number : 84 Question Id : 5861806790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

?S,SGOTI'T'Q'@A,Bﬁ?Cﬂ?ﬁ?{gﬁM#ﬁﬂW%%AﬁB%éﬁmﬁ'aﬁTBﬁ
C%z Tfer B &1 A & REEr 79 #:Y

Options:
1. v T9F 360
D % TIF 900
3. % TIF 460
4. = TIF 600

Question Number : 85 Question Id : 5861806791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

248 %248 -T73 X 7.3 .
The value of . is:

Options:
1. = 16.5

) @ 175

3. % 157

A % 185



Question Number : 85 Question Id : 5861806791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

248x 248 —-—7.3x 7.3 -
& AT a7 FL

321
Options:
1. = 165
2. ¢« 175
3 x 157
4. % 185

Question Number : 86 Question Id : 5861806792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of commodity A increases by 75 paise every year, while the price of commodity B increases by 40 paise every
year. If in 1998, the price of commodity A was Rs. 4.50 and that of B was Rs. 6.45, in which vear will commodity A
cost 85 paise more than commodity B?

Options:
1. v 2006

7 % 2005

3w 2007

A, % 2008

Question Number : 86 Question Id : 5861806792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEG A Y FAT W TS 75 TX 7 AN ¢, T a8g B Fr FAT W A 40 S & g1 AT 1998
H, a5g A 1 FIAT T9F 4.50 o AT B F FHT T9F 645 off, A A U @ WA A aw g A H
FAT 75 B ¥ 85 I¥ foe gefr?

Options:
1. « 2006
2. = 2005
3. = 2007
4. = 2008

Question Number : 87 Question Id : 5861806793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of two positive numbers is 14.6 and their product is 44.88. Find the greater number of the two.
Options:
1. = 8.4

Question Number : 87 Question Id : 5861806793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l UATcHS HEATHT & 1T 14.6 § R 371 U 44.88 gl =l H ¥ 37 HEAT 9T <

Options:




1. = 84

2 % 122
3 = 44
4. v 102

Question Number : 88 Question Id : 5861806794 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
2 i 41

42 -Zx102+5- 2
The value of —5 —="5 17— is:
P T

Options:
1.« 2

£ | =

2. %

B |

Ul | b

Question Number : 88 Question Id : 5861806794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 1 2 1 41
P IR LN L P L :
7_8 3“8 16 ZHT HIF 94T FI|
EPYERE I
1< 7 7 &

Options:



P |

w | =

Question Number : 89 Question Id : 5861806795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man divided a piece of land among his three children. He gave 32% km? to the first child anct% of the whole to the second.

He gave the third child as much land as he gave the first two together. Find the share of the third child.

Options:

1. = 217 km?

7 % 237km?

3. ¢ 227km

Question Number : 89 Question Id : 5861806795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

waﬁaﬁmmﬁaﬁmmaﬁ?ﬁaﬁﬁmlmﬁrmmﬁ#mﬁqﬁaﬁraﬁwzg

kmzﬁ?@iaﬁﬁmmmmi frear e 3E e Y T=2 F a1 g=ar
et & 2 e e & Y T==r # e J w1

Options:



1. = 217 km?

2 % 237 km?

3 ¢ 227 km?

A % 327 km?

Question Number : 90 Question Id : 5861806796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thevaluecf%%—i—l—i—i—i is:

70 130 208
Options:
5

1. % 16

Question Number : 90 Question Id : 5861806796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 3 3 3 5
—+—+—+— ©hl HT JATd ]|
28 70 130 208

Options:



—
b
v

Question Number : 91 Question Id : 5861806797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the sum of all such numbers between 500 and 700 that when divided by 6, 15 and 18 leaves a remainder of 5 in
each case.
Options:

1. « 1180

7 % 1280

3. % 1170

A, % 1810

Question Number : 91 Question Id : 5861806797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

500 3T 700 = &=r v vOT Tt HEATHT T TRT AT HL, AT 6, 15 3T 18 T #=7 & 3T 5 I s=9ar
arl

Options:

1. v 1180



2 % 1280

3. % 1170

4. % 1810

Question Number : 92 Question Id : 5861806798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the smallest five-digit number that when divided by 12, 18 and 25 leaves a common remainder of 6.
Options:
1. = 10628

7 % 10800

3. % 10618

A. » 10806

Question Number : 92 Question Id : 5861806798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THT TEY TIET 9IE-31e0T aTelr TEAT AT #e, fory 12, 18 3t 25 ¥ RFaferg sy o7 9W 6 F=raT &

Options:

1. « 10628

2 % 10800



3. % 10618

4. «~ 10806

Question Number : 93 Question Id : 5861806799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the sum of the greatest three-digit number and the smallest four-digit number that have 32 as their HCF.

Options:
1. « 2016

7 % 2026

3 % 2018

A % 2014

Question Number : 93 Question Id : 5861806799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey F2r @19 3 el AT A TEW T 9 - 3 el I8 o AT A9 W, ST Agaas
AT 32§

Options:
1. v 2016
2 % 2026

3. % 2018



4. % 2014

Question Number : 94 Question Id : 5861806800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The salaries of Ahmed and Vinod are in the ratio of 4 : 5. If the salary of each is increased by Rs. 5.000, the new ratio
becomes 38 : 45. What is Ahmed’s salary after the increment?

Options:
1. % Rs. 18,000

9 % Rs.15,000

3 % Rs. 14,000

4. » Rs.19,000

Question Number : 94 Question Id : 5861806800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3EFE 3R RBele F 357 F7 3T 4 ¢ 5 Bl IS wede 1 aaw F9¥ 5,000 Fer femw e, & aar
AT 38 : 45 g ST §| SIS & §IG IEHAS F AdA AT P2

Options:

1. =« ¥4I 18,000

2 % T 15,000

3 x TIF 14,000

4. o TIF 19,000



Question Number : 95 Question Id : 5861806801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The sum of three numbers is 858. If the ratio of the first mumber to the second number is 4 : 7, and that of the second

number to the third number is 6 ; 11, then the second number is:

Options:
1. = 352

7 @ 252

Question Number : 95 Question Id : 5861806801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O HETaT #T AT 858 g1 AfE wEer 3R gy W & A 4 ¢ 7 7 3R @y AR fwd s=w w
HFAA 6 1 11 §, gL TEAT I

Options:
1 = 352
2. v 252
3w 225
A % 532

Question Number : 96 Question Id : 5861806802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nandini and Kamali appeared for an examination. Nandini secured 12 marks more than Kamali. and her marks were

55% of the sum of their marks. Find the marks scored by Nandini.



Options:
1. v 66

? % 54

A = 68

Question Number : 96 Question Id : 5861806802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Afeedr 3T FHe v afeT & d33 £ AT F FFEeT ¥ 12 3T 305 Fey § 3wl # 3+ 395
3eRT & T FT 55% | AAT Fr Thaw 3F Fer?

Options:

1. v 66
2 = b4
3 = b6
4. = 68

Question Number : 97 Question Id : 5861806803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
If the length of a rectangle is increased by 10% and breadth by 20%, then by what percentage will the area be increased?

Options:

1. & 23%



Question Number : 97 Question Id : 5861806803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg v g Fr FEE 10% 3T =isE 20% 91 & AT, o 8% H Thaw g geadr et

Options:

1 % 23%
2. v 32%
3. % 25%
4. = 30%

Question Number : 98 Question Id : 5861806804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
Two numbers, A and B, are such that the sum of 8% of A and 5% of B is three-fourth of the sum of 6% of A and 9% of

B. Find the ratio of A to B.
Options:

1 « 1:2

? % 2:1



@
#
I
Lo

A = 3:2

Question Number : 98 Question Id : 5861806804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ANTBsT TR T F A F 8% 3T B F 5% FT AT A F 6% 3T B F 9% &F T &
&=t - =S &1 A 3R B #7 sree g &

Options:

1. ¢ 1:2
2 = 231
3 o= 2:3
4 = 3:2

Question Number : 99 Question Id : 5861806805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A rectangular slab of wood. 4 m in length and 3 m in breadth, is floating on a lake. The wood sinks by 8 cm when 15
persons climb on it. What is the average weight of 15 persons if 1 m? of water weighs 1000 kg?

Options:

1. « 64ke



Question Number : 99 Question Id : 5861806805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 m 7@ AR 3 m T vF HTAER FTHE FT T ST A X T g1 79 15 AT 3§ W TEd §, ar
3 8 cm =3 Sar &1 3 1m3 9= #7399 1000 kg &, & 15 =wfFaar &1 swa ao= fhaer gem?

Options:

1. v B4kg
5 % 70 kg
3w 65 kg
A x 68 kg

Question Number : 100 Question Id : 5861806806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of a husband. his wife and their child 4 years ago was 28 years. and that of the wife and the child 7
years ago was 18 vears. The present age of the husband is:
Options:

1. = 44 years

7 % 42 years

3 46years

4 = 40 years



Question Number : 100 Question Id : 5861806806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 | TEW TS 9, 3HET ool AN 3ES T Y dwa 3y 28 A off AR 7 Wi 9@ IHHT T
3R 30 T= H IFa g 18 T | 9fy B FAAH 3G AT

Options:

1. = 44 AT

7w 42 Fro

3. v 46 e

4 = 40 @l

Arithmetic Ability2

Group Number : 6

Group Id: 586180327

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithmetic Ability2

Section 1d : 586180331
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 586180458
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861806807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
An umbrella was sold for Rs. 220 at a profit of 10%. At what price should the umbrella be sold to get a profit of 15%7?

Options:
1. v Rs.230

7 % Rs.240

3. % Rs.250

4. % Rs.245

Question Number : 101 Question Id : 5861806807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T SId & 10% & oTH 9T 9T 220 H 597 77| 15% o FA & &0 37 o & fhaa T9ar &

S=IAT BIE?
Options:

1. v TIF 230
2 % TIF 240
3 % TIY 250

4. % T 245



Question Number : 102 Question Id : 5861806808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost price of an umbrella is 75% of the marked price. If the discount is 10%, find the profit percentage.

Options:

Question Number : 102 Question Id : 5861806808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U BT H FT Hod Ahad AT F 75% g1 I g 10% &, ar =mst gfderg A1 &<

Options:

1 = 15%
2 % 22%
3. v 20%
A % 25%

Question Number : 103 Question Id : 5861806809 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

By reducing the selling price of an article by Rs. 60, a gain of 10% turns into a loss of 5%. Find the original selling price
of the article.

Options:



1. + Rs.440

.

? % Rs. 400

3. % Rs. 450

4. = Rs.340

Question Number : 103 Question Id : 5861806809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue FFG W (9T Aed 99 60 W " & 10% 1 o1, 5% FTHAA H Fod AT gl a8 B AA
forw e A9 X

Options:
1. v TIH 440
2. % T 400
3. % T 450
4. x T 340

Question Number : 104 Question Id : 5861806810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When payment is made online, discount offered is 15%. Additional discount of 6% is given to credit card holders.
Mohan buys a phone for Rs. 14,000 by paying online through his credit card. How much does he pay?

Options:

1. « Rs. 11.186



9 % Rs.11.168

3 % Rs. 11176

4. = Rs.11.286

Question Number : 104 Question Id : 5861806810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HASA ST A W 15% F e & e g1 FiET F15 unent 1 Haea 6% T & Jar g1 A
T HTET TS F HIAGTS ST FF T Bl F T9F 14,000 F wlhear ¢ 387 e s
o 27

Options:

1. » T9¥ 11,186

2 % TIF 11,168

3 % T 11,176

4w« TIT 11,286

Question Number : 105 Question Id : 5861806811 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two successive discounts, the first being 15%. were given on an article having a marked price of Rs. 9.600. Finally, it
was sold for Bs. 7.344. How much was the second discount?

Options:

1. = 12%

7 v 10%



3. % 9%

A = 8%

Question Number : 105 Question Id : 5861806811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T& TG W gl 15% F Pe Higd a1 HAF o & AT ¢, ower dfea Few T 9,600 wnl AT F,
TEG 1 T 7,344 F 991 fom wmam gl g feaer o

Options:

1 = 12%
2. v 10%
3 % 9%
4 = 8%

Question Number : 106 Question Id : 5861806812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man invested Rs. 16,000 at a certain rate on simple interest and Rs. 12,000 at a 3% higher rate of interest than the
previous one. If the interest amount in both cases is the same after 5 years, find the rate of interest.

Options:
1. v 9%

7 % 8%

3 % 9.5%



A % 8.5%

Question Number : 106 Question Id : 5861806812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Oied o UF ARTd T =0 &7 ¥ 99 16,000 3 e o= T ¥ 3% 3 9T 93
12,000 f3er fv| ofE 5 @rer & ¢ St & JAHeT F =TT Fr M U T &, o =9 &7 7T F1

Options:

1. v 9%
7w 8%
3. % 95%
A = 85%

Question Number : 107 Question Id : 5861806813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money amounts to Rs. 7,668 afier 4 years and Rs. 9,369 after 7 years at the same rate of simple interest. The
rate of interest per annum is:

Options:
1. % 10%

Question Number : 107 Question Id : 5861806813 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

T TR WA HURUT =0T 9T 4 Gl & a8 93 7,668 3T 7 @rel & &¢ 93 9,369 & F1ar B
TWF =T 2T 7T LU

Options:
1. = 10%
2 % 12%

3. v 105%

4 = 9%

Question Number : 108 Question Id : 5861806814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of ¥ 840 is lent in the beginning of a year at a certain rate of interest. After 8 months, an additional sum of T 390
is lent at twice the former rate. At the end of the year, T 93.50 is earned as interest from both the loans. What was the

original rate of interest?

Options:
1. v 8.5%

7 % 8%
3. % 9%
A % 9.5%

Question Number : 108 Question Id : 5861806814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



BT FT QeI H T AfPET su ax & T840 Fr v w v 8 e & A, Mo ;= W &
Herrael R s4Te &1 9 T 390 & 3R HoT Gar T W ¥ 3T A, e wmOm ¥ T 93.50 F aHGEA
gt g1 HF S X A B

Options:
1. v 85%
2 % 8%
3 % 9%
4 = 95%

Question Number : 109 Question Id : 5861806815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compound interest on a certain sum of money at 10% p.a.for 2 years is Rs. 1,050. Find its simple interest at the
same rate for the same period.

Options:

1. « Rs. 1.000

9 % Rs. 1,020

3 % Rs. 900

4. % Rs.1.030

Question Number : 109 Question Id : 5861806815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v faf¥aa ofr 2 @mer & 10% & afts =wgfe sore & g7 § T99 1,050 & Fdr g1 86 &0 & W,
=T afer F o grumer =@ & AT F

Options:




1. «» ¥9& 1,000

2 % T 1,020
3 % TIF 900
A % TIF 1,030

Question Number : 110 Question Id : 5861806816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Dubey borrows Rs. 10.000 at 15% p.a. on compound interest. At the end of every year, he pays Rs. 3,000 as a part of

repayment. How much does he still owe after two such installments?
Options:
1 Y Rs. 5,735

2. o Rs. 5:77'5

3' ® Rs. ﬂ?ﬂﬁ

4. % Rs.6.800

Question Number : 110 Question Id : 5861806816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ 7 15% e Thgia =4 H & ¥ T94 10,000 39K T §| 9 &} A F AT A, FA F@TN F
T H T 3,000 derar g1 U @ fhed & & a1 38 9 3ef fobaar wor A g7

Options:

1. » ¥T9¥ 6,785



2 o T 6,775

3 % T 6,700

A« TIF 6,800

Question Number : 111 Question Id : 5861806817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the length to the breadth of a rectangle is 5 : 4. The area of the rectangle is 5780 em?. Find the ratio of the
breadth to the area of the rectangle.

Options:
1.« 1:85

7 % 2:65

Question Number : 111 Question Id : 5861806817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH A & wars HR HiES # 3aa 5 4 &1 a7 &% 5780 cm? €1 T F & he 3R
TS T HqAT A H
Options:

1. ¢ 1:85

2 % 2:865



3. % 4:85

Question Number : 112 Question Id : 5861806818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a rectangular floor is 150% more than its breadth. If Rs. 2.560 is required for cementing the floor at the

rate of Rs. 4 per m?, then what is the length of the floor?
Options:
1. &« 36m

? % 30m

3 % 16m

4 v 40m

Question Number : 112 Question Id : 5861806818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U HIAR BT $r &S 356 95 F 150% 30 ) oy o9 4 9fa m?2 &1 &7 ¥ w3 W O
TeT= F T 9% 2,560 Fr FWA 2, aF BT N F9E AT H

Options:
1. = 36 m
2 % 30 m



4 v 40 m

Question Number : 113 Question Id : 5861806819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A wire, in the form of a circle of radius 10.5 cm, is bent in the form of a rectangle. whose length and breadth are in the

ratio of 6 : 5. What is the area of the rectangle?
Options:

=
1. = 260cm~

7 & 270 cm?

3. % 370 cm?

4. % 240 cm?

Question Number : 113 Question Id : 5861806819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF JeaR aR, @S = 105 cm &, 38 v T F &9 & A A g, Sadr gmw ik e
FT HIIT 6 : 5 gl IS FT &FGA AT B

Options:

1. = 260 cm?

2 & 270 cm?

3 % 370 cm?

A % 240 cm?



Question Number : 114 Question Id : 5861806820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Adhavan completes a job in 15 days, whereas Arun completes the same job in 30 days. Bhaskar works 1; times faster
than Adhavan. How many days will they take to finish the job working together?
Options:

1. ¢

Lh

2. % 6

Question Number : 114 Question Id : 5861806820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ST TH F F 15 AT F R FAm 8, FE 3707 35 F Fr 30 A F [ wWAm § ==,

FUTET H 12 A § FA FA g1 T A T F o w1 H, O 57 FE w @ A 7 e
feer st
Options:

1. v 5

2. x 6

Question Number : 115 Question Id : 5861806821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The salary for completing a job is Rs. 3.600. A alone can do the job in 10 days. B alone can do the job in 5 days. With
the help of C, they will be able to do the job in 2 days. Find the salary of C.

Options:
1. % Rs. 1,420

2 % Rs. 1450

3 » Rs. 1440

4. % Rs.1.400

Question Number : 115 Question Id : 5861806821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FIA FH IU F F o0 T94 3,600 e F A 3w 37 1R w10 G F 9 FT wFar g1 B
T FH A RA A TR TFT L CH T A, I FH A 2 Rt § W Fha €1 C
FT IGT AT

Options:

1 % T 1,420
2 x T 1,450
3 o T 1,440
A x T 1,400

Question Number : 116 Question Id : 5861806822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train, 150 m in length, moves at a speed of 30 kmm/h. It crosses another train, 200 m in length, coming from the
opposite direction in 20 seconds. Find the speed of the second train.

Options:



1. « 33km/h

? % 32km/h

3 % 35kmh

4 = 36 kmh

Question Number : 116 Question Id : 5861806822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

150 m T RS 30 km/h A & Todr g1 TE GELT TG § 3T TWr 200 m &y IS F 20 Fehs H
R AT €1 EEY WEEr oAl A

Options:

1.« 33 kmh

2 % 32 km/h
3. % 35 km/h
4. % 36 km/h

Question Number : 117 Question Id : 5861806823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man in a moving frain observed that he could count 50 telephonic poles in 1% minutes. If the telephonic poles are 75

m apart. what was the speed of the moving train?
Options:
1. %= 174 km/h



? « 147 km/h
3. % 137km/h

4. = 144 km/h

Question Number : 117 Question Id : 5861806823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬂﬂ#?mﬁmaﬁﬁﬁm%ﬁlg fiee & 50 T & @ P9 TFar &1 I
éﬁlﬂ%ﬂ#@ﬁﬂ?ﬁﬁ?ﬁ{ﬁ'%m?ﬁ?ﬁm#?ﬁmaﬁ'l

Options:

1. %« 174 km/h

2 » 147 km/h

3. % 137 km/h

4. % 144 km/h

Question Number : 118 Question Id : 5861806824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
A man undertakes a journey of 1000 km. He takes 11 hours if he travels 600 km by train and 400 km by car. He will

take one hour more if he travels 200 km by train and 800 km by car. Find the ratio of the speed of the car to the train.
Options:

1. &« 4:5

]
e

2. %



Question Number : 118 Question Id : 5861806824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T =AET 1000 km FT FGT 9T T g1 IfE 38 600 km YeremEr & 3T 400 km X ¥ W 99 FaT
g, ar 3@ 11 g¢ o913 g1 afE a8 200 km ToFmEr ¥ 3T 800 km T ¥ T©RY 9T HIAT g, o 3T 1 =ar
3R SITET SRR S AR FR A A FHGIT AT

Options:
1. v 4:5
2. % b:4
3. % 3:5
4 x 5:3

Question Number : 119 Question Id : 5861806825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the given table and answer the following questions.

Number of candidates who appeared (App.) and qualified (Qual.) in a competitive examination from different states

over the years.

Year

State 1997 1993 1999 2000 2001

App.| Qual. | App.| Qual.| App. | Qual.| App.| Qual. | App.| Qual.

A (5200 720 | 8500 980 (7400| 850 | 6800( 775 |9500| 1275

B | 7500 840 | 9200 1050 | 8450 | 920 | 9200| 930 (3800 1020

C |6400| 680 |8800| 820 | 7800 | 820 | 8750 895 (9750 1350

D (8100 950 | 9500 1240 | 8700 | 980 | 9700 ( 1200 | 8960 | 995

E 7800 | 270 (7600 940 (9800 | 1350 | 7600 | 945 (7990 | 985

What is the percentage of candidates who have qualified from state C for all the vears combined. out of the candidates
who have appeared from state C for all the years combined?

Options:
1. ¢ 11%

7 % 10.8%

3w 12.8%

A % 11.5%

Question Number : 119 Question Id : 5861806825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A & T arfee & aremws Y 3 e gt @ e £

fow 71T @ret # e - 3T U=t F afamedt afer F 4% & ofenfEiat Hr gw=wr (App.) 3 &80T Hr
HEAT (Qual.) & 75 &

1997 1998 1999 2000 2001

5200 | 720 | 8500 | 980 | 7400 | 850 | 6800 | 775 | 9500 | 1275

7500 | 840 | 9200 | 1050 | 8450 | 920 | 9200 | 980 | 8800 | 1020

6400 | 680 | 8800 | 820 | 7800 | 820 | 8750 | 895 | 9750 | 1350

8100 | 950 | 9500 | 1240 | 8700 | 980 | 9700 | 1200 | 8960 | 995

mDOm}ﬂ

7800 | 870 | 7600 | 940 | 9800 | 1350 | 7600 | 945 | 7990 | 985

T gret & OT T=7 C ¥ 9fieT # $57 I Wieiat § §, U7 C ¥ 34107 gl STel qetear &
gfeera 719+

Options:

1. ¢ 11%

2 % 10.8%

3. % 12.8%

4. % 11.5%

Question Number : 120 Question Id : 5861806826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the given table and answer the following questions.

Number of candidates who appeared (App.) and qualified (Qual.) in a competitive examination from different states

over the years.

Year

State 1997 1998 1999 2000 2001

App.| Qual. | App. | Qual. | App. | Qual.| App.| Qual. | App. | Qual.

A | 5200 720 | 8500| 980 (7400 | 850 | 6800| 775 (9500 1275

B |7500| 840 | 9200 1050 | 8450 | 920 |9200| 930 (8800 1020

C |(6400| 680 |2800| 820 | 7800 | 820 |8750| 395 | 9750 1350

D | 8100( 950 |9500| 1240 (8700 | 980 |9700| 1200 | 8960 995

E |7800( 870 | 7600| 940 | 9800 | 1350 | 7600 | 945 | 7990 | 985

The percentage of the total number of qualified candidates out of the total number of appeared candidates for all the five

states in 2001 is:

Options:
1. = 12%

7 % 11.5%

3. v 12.5%

A % 13%

Question Number : 120 Question Id : 5861806826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A &1 TS o T 3WeETa #i 3R e 99 # 3eaw d

fev =10 @ret # rewEr-sverer Tt F gdemedt aftew F 45 & gfenfiat Fr wear (38) 3 st &
& (390 & TR

=T 1997 1998 1999 2000 2001

A5 3t &3 et &5 eaoh 3% 3=t 3 e
A 200 720 |8500| 980 | 7400 | 850 (6800 775 | 9500/ 1275

B |7500| 840 | 9200| 1050 | 8450 | 920 |(9200| 980 |8800| 1020

C |6400| 680 |8800| 820 | 7800 | 820 |8750| 895 |9750| 1350

D |8100| 950 |9500| 1240 | 8700 | 980 | 9700 | 1200 | 8960 | 995

E |7800| 870 (7600 940 | 9800 | 1350 | 7600 | 945 | 7990 | 985

2001 & |t 9= T=ar & O qeT F o g qieeat fr s=m H § =T C ¥ 3T g are
gfrenferat $r gEr =7 i 719 F:4

Options:
1. = 12%
2 % 115%
3. v 125%
4. = 13%
General Englishi
Group Number : 7
Group Id : 586180328
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 586180332

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180459
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5861806827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
idiom.

He is living in a fool’s paradise if he thinks his father will
support him.

Options:

1. = being a fool to think of a paradise

2. v being happy by ignoring a problem
3. # being very supportive of someone
4. = not being fooled by anyone

Question Number : 121 Question Id : 5861806827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the meaning of the underlined

idiom.

He 1s living in a fool’'s paradise If he thinks his father will
support him.
Options:

1. = being a fool to think of a paradise
2. v being happy by ignoring a problem
3. = being very supportive of someone
4,

* not being fooled by anyone

Question Number : 122 Question Id : 5861806828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
1diom.

The results are going to be announced tomorrow, I am getting
butterflies in my stomach.

Options:

1. = to feel suspicious

2. = 1o feel confident
3. = to feel disappointed
4. v to feeling nervous

Question Number : 122 Question Id : 5861806828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the meaning of the underlined

idiom.

The results are going to be announced tomorrow, | am

getting butterflies in my stomach.

Options:

1. = to feel suspicious
2. = to feel confident
3. » to feel disappointed

4. v to feeling nervous

Question Number : 123 Question Id : 5861806829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence.

In case there is no improvement needed then select ‘No
improvement’ option.

I went a long length to explain the situation to my boss.

Options:

1. = huge length

2. = positive length
3. v great length

4. = no improvement

Question Number : 123 Question Id : 5861806829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence.

In case there i1s no improvement needed then select ‘No
Improvement’ option.

| went a long length to explain the situation to my boss.

Options:

1. = huge length
2. % positive length
3. v great length

4. = no Improvement

Question Number : 124 Question Id : 5861806830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

I am writing to show my dissatisfaction regarding the order I
placed last week.

Options:

1. = acknowledge my dissatisfaction
2. v express my dissatisfaction

3. = vent my dissatisfaction

4. = no improvement

Question Number : 124 Question Id : 5861806830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then
select ‘No improvement’ option.

| am writing to show my dissatisfaction regarding the order

| placed last week.

Options:

1. = acknowledge my dissatisfaction
2. v express my dissatisfaction
3. = vent my dissatisfaction

4. = no Improvement

Question Number : 125 Question Id : 5861806831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is one word substitution for the given
phrase.

Apiary
Options:

1. v a place where bees are kept
2. = & bird house

3. *» animal museum

4, = speclal cage for apes

Question Number : 125 Question Id : 5861806831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that i1s one word substitution for the

given phrase.

Apiary

Options:

1. v a place where bees are kept
2. *= a bird house

3. * animal museum
4.

» speclal cage for apes

Question Number : 126 Question Id : 5861806832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

I would love to have lce cream on day like this.
That will make evening so special.

Options:

1. = the, a, the
2. = an, the, the
3. v an, a, the
4. = an, the, an

Question Number : 126 Question Id : 5861806832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

| would love to have ice cream on day like

this. That will make evening so special.

Options:



1. = the, a, the
2. % an, the, the
3. ¥ an, a, the
4. = an, the, an

Question Number : 127 Question Id : 5861806833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Please inform everyone that the meeting will last hour
and half and it will be held in conference room.
Options:

1.% a,a,a

2. % 4, a, the

3. = g, an, the
4, v an, a, the

Question Number : 127 Question Id : 5861806833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Please inform everyone that the meeting will last
hour and half and it will be held In

conference room.

Options:

1. = a, a, a
2. = a, a, the

3. = a, an, the



4. v an, a, the

Question Number : 128 Question Id : 5861806834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Pour the juice the jug and keep it the fridge
sometime you drink it.
Options:

1. = in, 1n, at, after

2. v into, in, for, before

3. = into, into, before, after
4. = in, into, before, after

Question Number : 128 Question Id : 5861806834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Pour the juice the jug and keep it

sometime you drink It.

Options:

1. = In, In, at, after

2. v Into, In, for, before

3. = Into, Into, before, after
4. = |n, Into, before, after

Question Number : 129 Question Id : 5861806835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

the fridge



Choose the correct option to fill in the blanks.

The small boy lay injured the road a fall his
bicycle.

Options:

1. = along, with, on
2. = above, In, from
3. v on, after, from
4. = on, at, by

Question Number : 129 Question Id : 5861806835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

The small boy lay injured the road a fall

his bicycle.

Options:

1. = along, with, on
2. * above, In, from
3. v on, after, from
4. = on, at, by

Question Number : 130 Question Id : 5861806836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

tragic was her story I could not control my tears.

Options:

1. = Such, therefore



2. = How, that
3. v So, that
4. = Although, hence

Question Number : 130 Question Id : 5861806836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

tragic was her story | could not control my

tears.

Options:

1. = such, therefore
2. = how, that
3. v so, that

4. = although, hence

Question Number : 131 Question Id : 5861806837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

When I reached the hotel, Rakesh Mita had left.

Options:

1. = neither, or
2. % as, and

3. = 80, and

4. v both, and

Question Number : 131 Question Id : 5861806837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

When | reached the hotel, Rakesh Mita had
left.

Options:

1. = neither, or
2. * as, and
3. ®= so, and

4. v both, and

Question Number : 132 Question Id : 5861806838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

The boys saw something. bend over the ant heap. The
downpour has damaged . The insects are busily carrying
drowned companions.

Options:

1. = It, them, their

2. v They, 1t, theilr

3.« We, 1t, them

4. = s, them, their

Question Number : 132 Question Id : 5861806838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

The boys saw something. bend over the ant heap.
The downpour has damaged . The Insects are busily
carrying drowned companions.

Options:

1. = 1t, them, their
2. v they, Iit, their
3. = we, It, them
4. = us, them, their

Question Number : 133 Question Id : 5861806839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

I said to father, © can handle this . please
leave alone.
Options:

1. v my, I, myself, me

2. * mine, you, myself, him
3. * my, he, herself, her

4, = his, I, himself, us

Question Number : 133 Question Id : 5861806839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

| said to father, © can handle this

please leave alone.

Options:

1. v my, |, myself, me

2. * mine, you, myself, him
3. = my, he, herself, her
4. = his, |, himself, us

Question Number : 134 Question Id : 5861806840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Distribute the food we have with us, among these people.
Let leave without food.

Options:

1. = much, all

2. v all, no one

3. ®# none, none

4. = plenty of, some

Question Number : 134 Question Id : 5861806840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Distribute the food we have with us, among these

people. Let leave without food.

Options:



1. = much, all

2. v all, no one

3. ®* none, honhe

4. = plenty of, some

Question Number : 135 Question Id : 5861806841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

people enjoyed the movie but were disappointed.

Options:

1. = some, the other
2. v a few, many

3. = such, much

4, = some, the few

Question Number : 135 Question Id : 5861806841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the correct option to fill in the blanks.

people enjoyed the movie but were

disappointed.

Options:

1. = some, the other
2. v a few, many
3. = such, much

4. = some, the few

Question Number : 136 Question Id : 5861806842 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct passive form of the
given sentence:

The mechanic has repaired the brakes.

Options:

1. = The brakes has been repaired by the mechanic.
2. » The brakes have been repair by the mechanic.

3. v The brakes have been repaired by the mechanic.
4. = The brakes had been repaired by the mechanic.

Question Number : 136 Question Id : 5861806842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which Is the correct passive form of the
glven sentence:

The mechanic has repaired the brakes.

Options:

1. = The brakes has been repaired by the mechanic.
2. » The brakes have been repair by the mechanic.
3. v The brakes have been repaired by the mechanic.

4. = The brakes had been repaired by the mechanic.

Question Number : 137 Question Id : 5861806843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option which is the correct indirect form of the
given sentence:

Sunita said to her brother, “Will you be able to join us for the
party?”

Options:



1. = Sunita requested her brother if he would be able to join
them for the party.

2. v Sunita asked her brother if he would be able to join them
for the party.

3. » Sunita asked her brother if he will be able to join us for
the party.

4. = Sunita asked her brother if he would join them for the
party.

Question Number : 137 Question Id : 5861806843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which i1s the correct indirect form of the

given sentence:

Sunita said to her brother, “Will you be able to join us for
the party?”

Options:

1. = Sunita requested her brother If he would be able to

join them for the party.

2. v Sunita asked her brother If he would be able to join
them for the party.

3. = Sunita asked her brother If he will be able to join us

for the party.
4. = Sunita asked her brother If he would join them for the

party.

Question Number : 138 Question Id : 5861806844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct order of this jJumbled
sentence:

at last / band leader /I was a / now

Options:

1. = I was now at last, a band leader!
2. = Band leader now at last, I was a!
3. = ] was a at last, band leader now!
4. v Now at last, I was a band leader!

Question Number : 138 Question Id : 5861806844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence:

at last / band leader / | was a / now

Options:

1. = | was now at last, a band leader!
2. * Band leader now at last, | was al
3. = | was a at last, band leader nowl

4. v Now at last, | was a band leader!

Question Number : 139 Question Id : 5861806845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence:

the bag / top rack / bring me / that is / on the

Options:

1. ¥ Bring me the bag that is on the top rack.



2. » The bag that is on the top rack bring me.
3. *» Bring me on the top rack the bag that is.
4. = Bring me that the bag is on the top rack.

Question Number : 139 Question Id : 5861806845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence:

the bag / top rack / bring me / that is / on the

Options:

1. v Bring me the bag that i1s on the top rack.
2. » The bag that i1s on the top rack bring me.
3. = Bring me on the top rack the bag that Is.

4. = Bring me that the bag is on the top rack.

Question Number : 140 Question Id : 5861806846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence:

in the morning / won’t you / call me / you will

Options:

1. = Call me you will in the morning, won’t you?
2. * You will won'’t you call me in the morning?
3. v You will call me in the morning, won’t you?
4. = Me in the morning you will call, won’t you?

Question Number : 140 Question Id : 5861806846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that 1s the correct order of this jumbled

sentence:

iIn the morning / won'’t you / call me / you will

Options:

1. = Call me you will In the morning, won’t you?

2. = You will wont you call me in the morning?

3. v You will call me in the morning, won’t you?

4. = Me In the morning you will call, wont you?
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Question Number : 141 Question 1d : 5861806847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

dearth

Options:

1. = plenty

2. = abundance
3. vlack

4. = surplus

Question Number : 141 Question Id : 5861806847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

dearth

Options:
1. = plenty
2. = abundance

3. v lack

4, = surplus

Question Number : 142 Question Id : 5861806848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

culpable

Options:

1. v guilty
2. = blameless



3. = innocent
4. = unaffected

Question Number : 142 Question Id : 5861806848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

culpable

Options:
1. v quilty
2. % blameless

3. % |Innocent

4. = unaffected

Question Number : 143 Question Id : 5861806849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

fabricate

Options:

1. = break up
2. = divide

3. v assemble
4. = destroy

Question Number : 143 Question 1d : 5861806849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the synonym of the given word:

fabricate



Options:

1. = break up
2. = divide
3. v assemble

4, = destroy

Question Number : 144 Question Id : 5861806850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

innuendo

Options:

1. v hint

2. » interval
3. » proof

4. = evidence

Question Number : 144 Question Id : 5861806850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

iInnuendo

Options:

1. ¢ hint
2. % |nterval
3. # proof

4. = evidence

Question Number : 145 Question Id : 5861806851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the synonym of the given word:

lackadaisical

Options:

1. = hard working
2. * energetic

3. = active

4. v laid back

Question Number : 145 Question Id : 5861806851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the synonym of the given word:

lackadaisical

Options:

1. = hard working
2. ® energetic
3. = active

4. v laid back

Question Number : 146 Question Id : 5861806852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

jeopardize
Options:

1. = endanger
2. v protect
3. = put at risk



4. = subject to

Question Number : 146 Question Id : 5861806852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

Jeopardize

Options:

1. = endanger
2. v protect
3. = put at risk

4., = subject to

Question Number : 147 Question 1d : 5861806853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

succinct

Options:

1. = curt
2. v lengthy
3. = brief
4. %= concise

Question Number : 147 Question Id : 5861806853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

succinct

Options:



1. = curt
2. v lengthy
3. % brief

4. = concise

Question Number : 148 Question Id : 5861806854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

exotic

Options:

1. = unusual
2. » romantic
3. = foreign
4. v ordinary

Question Number : 148 Question Id : 5861806854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option that is the antonym of the given word:

exotic

Options:

1. %= unusual
2. ® romantic
3. = foreign

4, v ordinary

Question Number : 149 Question Id : 5861806855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the antonym of the given word:

perpetrate

Options:

1. v prevent
2. » perform

3. = pacify
4. = please

Question Number : 149 Question Id : 5861806855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

perpetrate

Options:

1. v prevent
2. = perform
3. = pacify

4. = please

Question Number : 150 Question Id : 5861806856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

miniscule

Options:

1. = tiny
2. ® MICro
3. v gigantic



4. = insignificant

Question Number : 150 Question Id : 5861806856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the antonym of the given word:

miniscule

Options:

1. = tiny
2. ® micro
3. v gigantic

4, = Insignificant

Sub-Section Number: 2
Sub-Section Id: 586180461
Question Shuffling Allowed : Yes

Question Id : 5861806857 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that
follow:

Jesse Owens could run. He could run faster and jump longer
than anyone in the world. But when he set out to prove this at
the Summer Olympics in Berlin in 1936, no one wanted him
there. No one wanted him running that race. He wasn’t even
welcome in the country, let alone the stadium. But Jesse
Owens was an expert at overcoming hurdles and blazing his
own path forward. He was determined to compete, no matter
how many barriers were in his way.

At the 1936 Summer Games, Jesse Owens became the first
person ever in Olympic history to win four gold medals in
track and field, claiming victory in the long jump, the 100-
meter dash, the 200-meter dash, and as a member of the
4x100 meter relay. His feats remained unmatched until the
1984 Summer Olympics.

The 1936 Summer Olympics were the first to be broadcast on
television and took place in Berlin, Germany, during a
turbulent time. Fascism was spreading across Europe, and
Germany’s Chancellor, Nazi leader Adelf Hitler, was at the
centre of it. International tensions were high. Europe was on
the brink of World War II, which officially broke out three
years after the Summer Olympics. People were terrified. But
the games and the excitement surrounding them continued in
spite of the impending war.

Hitler planned to use the Summer Olympics to prove his
theories that “Aryans,” or white Europeans, were a superior
race to all others. Jesse Owens’ success at the Olympics
undermined this completely, proving that athletes of colour
were not in any way inferior to white athletes. Hitler was
angered by Owens’ success. He stormed out of the stadium
and refused to shake Owens’ hand. Instead of stories about
German successes, the papers were filled with articles about
Owens breaking records and Hitler’s overblown response to
his wins. Both Owens’ medals and Hitler’s reaction catapulted
Jesse Owens into international fame.

Despite his achievements as a national hero, Owens was still a
black man in a deeply divided and racially segregated United
States. He faced discrimination and aggression when he
returned home. Even as a gold-winning Olympic athlete, he
wasn’t allowed to ride in the front of the bus. He couldn’t use
the front door to enter public buildings. He couldn’t raise his
family where he wanted. Jesse Owens wasn’t invited to shake
hands with Adolf Hitler after his higgest win, but he wasn’t
invited to shake hands with President Franklin Delano
Roosevelt, either.

He eventually set up a public relations and marketing
business in Chicago, Illinois, and travelled the country to
speak at conventions and other business gatherings. He
encouraged individual achievement, regardless of race, class,
or creed. His speeches often called back to why he fell in love
with running in the first place — it was something he could
do himself without having to rely on others to allow him to
do it.



Sub questions

Question Number : 151 Question Id : 5861806858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘....when he set out to prove this’ what does ‘this’ refer to
here?

Options:

1. = that racism did not affect Owens.

2. v that Owens was the best runner and jumper
3. » that he could win four gold medals

4. = that there were no barriers for Owens

Question Number : 152 Question Id : 5861806859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How did Owens create history at the Berlin Olympics?

Options:

1. v by winning four gold medals

2. * by being the first black runner in the Olympics

3. » Hitler refused to shake hands with him

4. = He was the only athlete who was a slave’s grandson

Question Number : 153 Question Id : 5861806860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘ during the turbulent time’ what time is being referred
to here?
Options:

1. = during the Olympic games

2. v on the brink of World War II

3. » after Owens won four golds

4. = when Owens set up a marketing business

Question Number : 154 Question Id : 5861806861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What happened to Owens after the Olympic games?



Options:

1. = He was accepted by the white community.
2. * He went on to win many more medals.

3. » He was welcomed into the political circles.
4. v He was still a target of racism.

Question Number : 155 Question Id : 5861806862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these qualities did Owens NOT possess?

Options:

1. = determination

2. » creating his own path
3. # getting hurt by racism
4. v giving up easily

Question Id : 5861806857 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that
follow:

Jesse Owens could run. He could run faster and jump
longer than anyone in the world. But when he set out to
prove this at the Summer Olympics in Berlin in 1936, no
one wanted him there. No one wanted him running that
race. He wasn’t even welcome In the country, let alone the
stadium. But Jesse Owens was an expert at overcoming
hurdles and blazing his own path forward. He was
determined to compete, no matter how many barriers were
in his way.

At the 1936 Summer Games, Jesse Owens became the
first person ever in Olympic history to win four gold medals
in track and field, claiming victory in the long jump, the 100-
meter dash, the 200-meter dash, and as a member of the
4x100 meter relay. His feats remained unmatched until the
1984 Summer Olympics.

The 1936 Summer Olympics were the first to be broadcast
on television and took place in Berlin, Germany, during a
turbulent time. Fascism was spreading across Europe, and
Germany’s Chancellor, Nazi leader Adolf Hitler, was at the
centre of it. International tensions were high. Europe was on
the brink of World War |l, which officially broke out three
years after the Summer Olympics. People were terrified. But
the games and the excitement surrounding them continued
in spite of the impending war.

Hitler planned to use the Summer Olympics to prove his
theories that “Aryans,” or white Europeans, were a superior
race to all others. Jesse Owens’ success at the Olympics
undermined this completely, proving that athletes of colour
were not in any way inferior to white athletes. Hitler was
angered by Owens’ success. He stormed out of the stadium
and refused to shake Owens’ hand. Instead of stories about
German successes, the papers were filled with articles
about Owens breaking records and Hitler’'s overblown
response to his wins. Both Owens’ medals and Hitler's
reaction catapulted Jesse Owens into international fame.
Despite his achievements as a national hero, Owens was
still a black man in a deeply divided and racially segregated
United States. He faced discrimination and aggression when
he returned home. Even as a gold-winning Olympic athlete,
he wasn't allowed to ride in the front of the bus. He couldn’
t use the front door to enter public buildings. He couldn’t
raise his family where he wanted. Jesse Owens wasn’t
invited to shake hands with Adolf Hitler after his biggest
win, but he wasn’t invited to shake hands with President
Franklin Delano Roosevelt, either.

He eventually set up a public relations and marketing
business in Chicago, lllinois, and travelled the country to
speak at conventions and other business gatherings. He
encouraged individual achievement, regardless of race,
class, or creed. His speeches often called back to why he
fell in love with running in the first place — it was
something he could do himself without having to rely on

others to allow him to do it.



Sub questions

Question Number : 151 Question Id : 5861806858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

...wwhen he set out to prove this’ what does ‘this’ refer to

here?

Options:

1. = that racism did not affect Owens.
2. v that Owens was the best runner and jumper
3. = that he could win four gold medals

4. = that there were no barriers for Owens

Question Number : 152 Question Id : 5861806859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How did Owens create history at the Berlin Olympics?

Options:

1. v by winning four gold medals
2. % by being the first black runner in the Olympics
3. = Hitler refused to shake hands with him

4. = He was the only athlete who was a slave’s grandson

Question Number : 153 Question Id : 5861806860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

during the turbulent time’ what time i1s being

referred to here?

Options:

1. = during the Olympic games
2. v on the brink of World War |l

3. = after Owens won four golds



4. = when Owens set up a marketing business

Question Number : 154 Question Id : 5861806861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What happened to Owens after the Olympic games?

Options:

1. = He was accepted by the white community.
2. = He went on to win many more medals.
3. = He was welcomed into the political circles.

4, v He was still a target of racism.

Question Number : 155 Question 1d : 5861806862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these qualities did Owens NOT possess?

Options:

1. = determination
2. % creating his own path
3. = getting hurt by racism

4, v giving up easily

Sub-Section Number: 3
Sub-Section 1d: 586180462
Question Shuffling Allowed : Yes

Question Id : 5861806863 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the following passage and answer the questions that
follow:

The dirt under your feet is easy to overlook. But just because
it’s common doesn’t mean it’s boring. Some researchers call
soil the skin of the earth.“It’s the most important part of the
planet, because it covers everything,” says L.orna Dawsocn. She’
s a soil scientist at the James Hutton Institute in Aberdeen,
Scotland.

Soil is the complex mix of minerals, carbon-rich matter,
waler and air that forms Earth’s surface layer. It does crucial
jobs such as growing our food, cleaning the air and storing
water. Soil contains the decomposing remains of plants and
animals. And it’s alive with countless microbes, such as
bacteria and fungi. Deep layers in bogs contain evidence of
the activities of ancient peoples. And high in the Arctic, frozen
soil holds bacteria that might one day help protect the planet.
Janet Jansson studies soil that is permanently frozen. Called
permafrost, it covers a large portion of Earth’s Arctic surface.
It also accounts for almost one-fourth of all land in the
Northern Hemisphere.

But scientists worry that some permafrost might not be
permanent much longer. Human activities in recent decades
have been spewing excess carbon dioxide and other
greenhouse gases into the atmosphere. Those gases trap heat
close to the planet’s surface, driving up temperatures. Not
surprisingly, temperatures have been rising all across the
globe, especially up north. That could spur big areas of
permafrost to melt. Because permafrost performs a really
important job, its loss could lead to many problems. Jansson
studies dirt in cold places. Others are using dirt to solve cold
cases. Soil also holds clues to major unsolved mysteries. Dirt
under a shoe or on someone’s clothing can help scientists
catch criminals.

For nearly two decades, Lorna Dawson studied how different
types of soil form. Her career took a turn in 2003, when a
police officer came to her lab and asked Dawson to help solve
a crime.The officer wondered whether dirt from the bottom
of a suspect’s boot could help pinpoint the location of buried
drugs. Dawson analyzed the soil and compared it to soil
samples in her lah. She matched molecules of plant matter
from the soil on the boot to a particular forest. That’s where
the police looked — and found the drugs.

Explains Dawson, “There’s soil on most outdoor crime scenes.
It contains hidden clues.” The work she did for the police
switched her scientific focus. Today she is a forensic soil
scientist. Her lab at the James Hutton Institute is one of the
few in the world to focus on using soil in crime-solving. It
helps investigators figure out where a crime took place, and
where the perpetrator may have gone before or after
committing a crime. Tiny bits of material trapped in soil can
provide clues. Those bits may come from plants, clothing,
algae — even air pollution.

Dawson says being ready to stand up and testify in court is
one of the most rewarding parts of her job. “Soil science,” she
notes, “is one piece of the investigative jigsaw [puzzle] that
can help to bring justice.”



Sub questions

Question Number : 156 Question Id : 5861806864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why is dirt called the skin of the earth?

Options:

1. = It is a complex mix of minerals, water and air.
2. = It holds clues to solving criminal cases.

3. v It covers a large portion of the earth.

4. = It is alive with countless microbes and bacteria.

Question Number : 157 Question Id : 5861806865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these according to the passage does the soil NOT do?

Options:

1. = clean up the air

2. = helps growing food

3. » decomposes plants

4. v sustains harmful bacteria

Question Number : 158 Question Id : 5861806866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is permafrost?

Options:

1. = The Northern Hemisphere

2. = greenhouse gases

3. v soll that is always frozen

4. = The study of soil of cold region

Question Number : 159 Question Id : 5861806867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ others are using dirt to solve cold cases’ here ‘cold cases’
means:

Options:



1. = Permafrost

2. = Arctic region

3. = Melting of permafrost

4. v Unsolved crime mysteries

Question Number : 160 Question Id : 5861806868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does a forensic soil scientist do?

Options:

1. » examines all kinds of soil.
2. v uses soll in crime solving.
3. = brings justice to the victims.
4. = uses to solve jigsaw puzzles.

Question Id : 5861806863 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that
follow:

The dirt under your feet is easy to overlook. But just
because it's common doesn’t mean it's boring. Some
researchers call soil the skin of the earth.“lt’s the most
important part of the planet, because it covers everything,”
says Lorna Dawson. She’s a soil scientist at the James
Hutton Institute in Aberdeen, Scotland.

Soil is the complex mix of minerals, carbon-rich matter,
water and air that forms Earth’s surface layer. It does
crucial jobs such as growing our food, cleaning the air and
storing water. Soll contains the decomposing remains of
plants and animals. And it’s alive with countless microbes,
such as bacteria and fungi. Deep layers in bogs contain
evidence of the activities of ancient peoples. And high in the
Arctic, frozen soll holds bacteria that might one day help
protect the planet.

Janet Jansson studies soil that is permanently frozen. Called
permafrost, it covers a large portion of Earth’s Arctic
surface. It also accounts for almost one-fourth of all land in
the Northern Hemisphere.

But scientists worry that some permafrost might not be
permanent much longer. Human activities in recent decades
have been spewing excess carbon dioxide and other
greenhouse gases into the atmosphere. Those gases trap
heat close to the planet’s surface, driving up temperatures.
Not surprisingly, temperatures have been rising all across
the globe, especially up north. That could spur big areas of
permafrost to melt. Because permafrost performs a really
important job, its loss could lead to many problems.
Jansson studies dirt in cold places. Others are using dirt to
solve cold cases. Soil also holds clues to major unsolved
mysteries. Dirt under a shoe or on someone’s clothing can
help scientists catch criminals.

For nearly two decades, Lorna Dawson studied how
different types of soil form. Her career took a turn in 2003,
when a police officer came to her lab and asked Dawson to
help solve a crime.The officer wondered whether dirt from
the bottom of a suspect’s boot could help pinpoint the
location of buried drugs. Dawson analyzed the soil and
compared it to soil samples in her lab. She matched
molecules of plant matter from the soil on the boot to a
particular forest. That's where the police looked — and found
the drugs.

Explains Dawson, “There’s soil on most outdoor crime
scenes. It contains hidden clues.” The work she did for the
police switched her scientific focus. Today she is a forensic
soil scientist. Her lab at the James Hutton Institute is one
of the few in the world to focus on using soil in crime-
solving. It helps investigators figure out where a crime took
place, and where the perpetrator may have gone before or
after committing a crime. Tiny bits of material trapped in
soil can provide clues. Those bits may come from plants,
clothing, algae — even air pollution.

Dawson says being ready to stand up and testify in court is
one of the most rewarding parts of her job. “Soil science,”
she notes, “is one piece of the investigative jigsaw [puzzle]

that can help to bring justice.”



Sub questions

Question Number : 156 Question Id : 5861806864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why 1s dirt called the skin of the earth?

Options:

1. = It 1Is a complex mix of minerals, water and air.
2. % [t holds clues to solving criminal cases.
3. v It covers a large portion of the earth.

4. = It 1s alive with countless microbes and bacteria.

Question Number : 157 Question Id : 5861806865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these according to the passage does the soill NOT
do?

Options:

1. = clean up the air
2. % helps growing food
3. = decomposes plants

4. v sustains harmful bacteria

Question Number : 158 Question Id : 5861806866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What 1s permafrost?

Options:

1. = The Northern Hemisphere
2. = greenhouse gases
3. v soll that i1s always frozen

4. = The study of soil of cold region



Question Number : 159 Question Id : 5861806867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

others are using dirt to solve cold cases’ here ‘cold

cases’ means:

Options:

1. = Permafrost
2. % Arctic region
3. = Melting of permafrost

4. v Unsolved crime mysteries

Question Number : 160 Question Id : 5861806868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does a forensic soil scientist do?

Options:

1. = examines all kinds of soll.
2. v uses soll In crime solving.
3. = brings justice to the victims.

4. = uses to solve jigsaw puzzles.
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Group Id : 586180330
Group Maximum Duration : 0
Group Minimum Duration : 0
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Section Id : 586180334

Section Number : 1
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5861806869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STYPT hdT SEE, 372

Options:

1. * T
2. % dcdd
3. v Tace

4, * TS

Question Number : 161 Question Id : 5861806869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRFL HAT e &7

Options:

1. « azd
2. *» dcdH
3. v [aae
4, % e

Question Number : 162 Question Id : 5861806870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & ¥ B 97 e TET B2

Options:

1. = ©C



2.« YTd
3. % gq
4. » gich

Question Number : 162 Question Id : 5861806870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foed § O Hid T 5 did &7

Options:

1. = "

2. v ©d
3. = gd
4. = TTH

Question Number : 163 Question Id : 5861806871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T I 91 e aGH §?

Options:

1. v daq
2. % qTH
3. = 9N
4. % T

Question Number : 163 Question Id : 5861806871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot A & i @1 s dcgH &7

Options:

1. v I

2. % ol
3. % o/
4



Question Number : 164 Question Id : 5861806872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=g # & [ oI oITelT e, 3

Options:

1. » geitaa
2. = qead
3. « giordia
4, v GIAT&T

Question Number : 164 Question Id : 5861806872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & g gder dTel oreT &:

Options:

1. = gefifaa
2. « wefi&fia
3. = TTevEfT
4. ¢ grATEda

Question Number : 165 Question Id : 5861806873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“ITHIH — ATATH S[ec, I T Fat A 3

Options:

1. v e - AR

2. % AT — geeX
3. » ATYareT - oW =g
4, % eI — Y

Question Number : 165 Question Id : 5861806873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TIH - JTAH 55 JIH ] gl 3T &

Options:

1. v goel - IGEESE




2. » fole - e
3. = A - auw ~ed
4. » Feed - a0y

Question Number : 166 Question Id : 5861806874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“‘DIRAT The TP i J=IT 572

Options:

1. * JhaTd

2. % STddTID

4, * YeTddaTadh

Question Number : 166 Question Id : 5861806874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FOAT Tohd TR T TaAT &7

1. % TYTHdaTdh

2. % STTdarTeh
3. v HATddIdh
4, = Ygrardaeh

Question Number : 167 Question Id : 5861806875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g’ GelATH T T[UTeTelDh [aAq0 g7

Options:

1. » TET
2. v agr
3. % A1
4,  3d-AT

Question Number : 167 Question Id : 5861806875 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TE’ HAATH FT I0TATh TFAYOT &7

Options:

1. = oET
2. v o4

3. % el
4. = 3T

Question Number : 168 Question Id : 5861806876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“ATq Thg g @ Tererm g2

Options:

1. * GEATATAH
2. % UILATOT ITYdh
3. = graATHG

4. v TUIdTIh

Question Number : 168 Question Id : 5861806876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Nl Fg voF &1 3ewor &7

Options:

1. = H&IETIS
2. % TATOT qreeh
3. % HOAIHF

4. v I0TdId<h
ot

Question Number : 169 Question Id : 5861806877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ry i SRuTeen Rt B

Options:

1. = SOTAT



2. % FEAT
3. ¢ TelT
4, % ofesT

Question Number : 169 Question Id : 5861806877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Question Number : 170 Question Id : 5861806878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W UTT PUST WL gI’ aTad | TshdT T 3

Options:

1. = AT UT
2. % TUST

3.%%

4. v 9T

Question Number : 170 Question Id : 5861806878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT I FUST T &1 g A GRar [ewor &

Options:

1. = AT 99
2. % YT

3. % &
4. v #L

Question Number : 171 Question 1d : 5861806879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘S P Y T gi:
Options:

1. » SR + dc
2. v A + TG
3. % I + g
4, % Y + T,



Question Number : 171 Question 1d : 5861806879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘‘NTdg ol a9 ATde glem:

Options:

1. » e + UG

2. v A + TG
3. % eNF + UG
4. = I + UG

Question Number : 172 Question Id : 5861806880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ILHEr | DI qT A 372

Options:

1. v 9g4lig

2. % T&

3. = regATa
4. = qcqey

Question Number : 172 Question Id : 5861806880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teg A H il IGT AT &7

Options:

1. v Sgdife

2. = gg@ed
* SIATHIT

3.
4.*3?‘:1"6‘3’

Question Number : 173 Question Id : 5861806881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H Thg IUHI DT YT g3 g7

Options:



1. =9
2.7
3.57
4. v OiX

Question Number : 173 Question Id : 5861806881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘W’ﬁmmﬁ‘rwmgmﬁ?

1. = o
2. » T
3. = T
4, v 9

Question Number : 174 Question Id : 5861806882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“HIGHT # Tohd Tcd T YT 31T g2

Options:

1. =7
2. % AT
3. v SHT
4, % 30

Question Number : 174 Question Id : 5861806882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AfGAT A 7O U o El‘EI’I'cIT§31T &7

Options:

1. = H

2. = HI
3. v SHAT



4. = 3T

Question Number : 175 Question Id : 5861806883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g & T DI T T, SlTolTT 87

Options:

1. v =Y
2. % T

3. » TTg
4, = MF

Question Number : 175 Question Id : 5861806883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foesT # O il IOT 26 THlTeldT &7

Options:

1. v 9T
2. « JNaTH
3. * IATE
4,

KIE]

Question Number : 176 Question Id : 5861806884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT & TEATA’ T UCe=8 BT ITELT 872

Options:

1. = TSS90 UgE=er
2. v YT Uea=¢
3. % YT Uca=2
4, = TohaT Tea~e

Question Number : 176 Question Id : 5861806884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘MR & TSeuTa’ ord Ueded T 3BT &7

Options:




1. = 39T USgey

2. v AT Ucdesel

3. % AdATH YesedT

4. = TopdT Yool

Question Number : 177 Question Id : 5861806885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T STl TRSTdT &, A [asTel] AT g’ ATFT H ST dTeel TTdT & e
U1 T JUTTT 37

Options:

1. * 9T IUATF

2. » TohdT SUETEFT

3. v Tshar Tarerur Iuaraa
4,  TIrQwur Iuarea

Question Number : 177 Question Id : 5861806885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TS STl ISl &, de [oelell IHhdl g1’ arsFg & ‘S e
INSIAT & ThT U T 3Uaed &7

Options:

1. » AT 39drey

2. » TopdT 39QTFT
3. v ThaT BONUT 3UaeR
4. » TIRINUT 3Ugrery

Question Number : 178 Question 1d : 5861806886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3G 3G AP DI GUST, ST 3YD [T 07 AT’ ThY Y1 T a1dd g2

Options:

1. * 9o ATFY
2. v Y ara




3. = G q19d
4, * IUATFY

Question Number : 178 Question Id : 5861806886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il 39 AT I THIET, ST 3Tk AT T AT 6T TR
areg g7

Options:

1. = Il dTFY

2. v T8 gy

3. » TYFA T

4. = IUdrerg

Question Number : 179 Question Id : 5861806887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCShH T &8 I I 9T a1 e 37

Options:

1. Q9T AeTat g LoATTSI|
2. % TeIdl g aaf LeTTTST|
3. » WHTTST deldl g |
4, v TAMMST A deldt gl

Question Number : 179 Question 1d : 5861806887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qeshA T ECC & *le AT AT A §7?

Options:

1. % dol TJoldl & JoleIaT|
2. = JoIdl & dof Ieremari
3. = ISEMST deldl & doll
4. v IGEIMET dof Joldr gl




Question Number : 180 Question Id : 5861806888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T Pl &8 I I AT AT e 87

Options:

1. v 3T 7 ACT 3R U0 G|
2. % 3T A ALT 3R UTUS @Sy
3. * 31U 7 VLT I UIUS @
4, % IO A AET 3 UTUS G

Question Number : 180 Question Id : 5861806888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3edd T TOC @ Hiel AT ATFT UG &7

Options:

1. v 379 = UST 3 995 =R
2. * 37T of TLT 3N 9IS =)
3. % U o AT 3T U5 FRT|
4. = 37T of TLT 3 9195 @37
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Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180464
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5861806889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘38T BT UATIATIT 37

Options:

1. vqam
2. % qm
3, % qqel
4. % T

Question Number : 181 Question Id : 5861806889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T’ T TATIGTAT &7

Options:

1. v d3l
Ba
N
3. ® ddal
B
4. = GH
Question Number : 182 Question Id : 5861806890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘qedl” PT qATAdT g1 &

Options:

1. » ST
2.« THT
3. = JaT

4. = gL



Question Number : 182 Question Id : 5861806890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Gl T AR A8l &

1. % el
2. v THT

4. » g
Question Number : 183 Question Id : 5861806891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. » ToTeil
2. % gAT
3. v dCr
4. % Gt

Question Number : 183 Question Id : 5861806891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = ToisTell
2. = GIAr
3. v oar
4. = &

Question Number : 184 Question Id : 5861806892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG’ ThdeT Il §7?

Options:




1. * 3
2. % TeIeq]
3. % 199
4. v §gT

Question Number : 184 Question Id : 5861806892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ThgerT T §7

Options:
1. = Sog
2. « Ty
3. = ferg
4, v §EHT

Question Number : 185 Question Id : 5861806893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

iy RrrepT TafaeTdt T8 2

Options:

1. = T&d
2. v T

3.+
4, « 0T

Question Number : 185 Question Id : 5861806893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.¥a’l}—cr

2. v 9o
3. = g

o,



4. » T

Question Number : 186 Question Id : 5861806894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘AT T TeollH AT, 3

Options:

1. « T
2. % ogMT
3. = Fafq
4, v qeIqd

Question Number : 186 Question Id : 5861806894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Terel’ T [AeH o &

Options:

1. = FJFOT

2. % C
3. « fer i
4. v Ycldd

Question Number : 187 Question 1d : 5861806895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“1farafe T Farei gn:

Options:

1. = giE
2. % QB
3. v 3FGE
4, % qE

Question Number : 187 Question 1d : 5861806895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3fagice” &1 faaa glem:

Options:



2. » gfte
3. v 3egE

Question Number : 188 Question Id : 5861806896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qRirer FRperanT R 22

Options:

1. v 3784
2. % GitAa
3.« SgTATT
4. » Ggid

Question Number : 188 Question Id : 5861806896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v AT
2. = WifAT
3. = SOTfAfa
4. = HEIc

™

Question Number : 189 Question Id : 5861806897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Ta® He, T 4 1S @I g1’ Ulth & @i €S, P [aelid gHIT-

Options:

1. = er

2.&?@
3. = AR




4. = e

Question Number : 189 Question 1d : 5861806897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g #S g & g W@T &1 9oa & Igifera osg &1 [allA
G

Options:

1. = QT
2.«?23’?[

3. = M
4, = ofrer

Question Number : 190 Question Id : 5861806898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T BT [l g

Options:

1. * STTelt
2. % WAL
3. % MR
4, v g

Question Number : 190 Question Id : 5861806898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T TaellA &

1. = STaTell
2. ® hAT
3. « fonaly
4. v G



Sub-Section Number: 2
Sub-Section 1d: 586180465
Question Shuffling Allowed : Yes

Question Id : 5861806899 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

St T&d WU e el UGehd U8 T4 T[T & Iqa gyl

Hiiged # AT GelcAT3I @ g+ <TedT gidl gl &H Aide Jodl &
TYT D T PIAud TS T Tl T YTauTeT ddr gl Iiiged H &4
Yodl YT TR FigdT d &Y YT & AT DI AT GIdT gl hATTDh

TG Dl & AT TeldT AT F4T T g, T ST e, [6ig agl 3mee giar gl Ig
el g & A U WIS YEIT TR Th YhR G ATdhdT & AHCS & T H
TYTTU g1 Fic; AT-Ter GHTST 7 S Yol chl 3TeTgor=T &t, df Irg LA

ST ORI T aTgvend de S uRuTer o @ 21 31 Fiiged &t G-
# IUYh Yed! i TYT h GTY-FTY I JTELAT T UTAUTST HI MTegeh HIHT

AT UheudT IH<d Giiged B 3fqdiigar & €0 8 UReAT&d gidl al

Sub questions

Question Number : 191 Question Id : 5861806900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T 3UGeh ATk gI:

Options:
1. * Fiige

2. % Yog

3. v EIiged 3R o g
4, % gH

Question Number : 192 Question Id : 5861806901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“DIAUA’ T 37 g 2

Options:

1. v o
2. 3Tdd

3. » wgeeyui




4. = grdep

Question Number : 193 Question 1d : 5861806902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘SegerT @ 3 2
Options:

1. *» PR
2. % rid®H
3. v Ta=ae
4. % GHEATT

Question Number : 194 Question Id : 5861806903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

iauTesT T 3ref g &

Options:

1. * ST
2. % U
3. = glade
4. v eI

Question Number : 195 Question Id : 5861806904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TIRUTEY” T 3T 3

Options:

1. v qgr
2. % BT
3.« uq
4, = 3Mesr

Question Id : 5861806899 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

TifecT A ATTAIT ACAT3T T 98T SATEAT &ldl &1 IH oldh
Hedl 7 q{iell & Y Siduy et va [Aerdr o gidoree

AT §1 g & 3oT Al TUT T HigAT & 3T T
F TRT kT AT AT &1 FATTF I kel T AT =T =7

T o 8, T 3HeRT sher foig Tgr ameel g &1 I8 3meet ad
% ATH U ATl THARE T Tsh ThR & sAfciehcl & HAES
T H TS &1 I AleTd FANST o T Hedl I 3Tagelell o,
T 3e8 gHTIT SR ToRTEdT & Sigseha Fla 1 TRUTer o
TEN &1 37cT: WifgcT T Gl H 3UdcT Hedl hl T&T & a1
- T 3T 3L T wiaureer #T 3Taedsh AT aAT| UhEIT
TATT AMgcd H 3idaligel & & H AT il ¢l

Sub questions

Question Number : 191 Question Id : 5861806900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEGTeT T 3UGF TR Elam:

options
1p. x Hiiged

2. « HeA

3. v ®Ifgcy 3T Hed
4. = gH

Question Number : 192 Question Id : 5861806901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HIdTT T T gAT &

Options:



Question Number : 193 Question Id : 5861806902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT elall BT T &

Options:

1. = HEPR
2. % grd+
3. v &=
4. » GEAT

Question Number : 194 Question Id : 5861806903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GiduTEsr T 37T gAT &

Options:

1. % 3feeRdor
2. % AL

3.
4. v TA®gUT

Question Number : 195 Question Id : 5861806904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRETE T 3R &

Options:

1. v 99T
2. = lalel



3. % OH

4, % 3TceT
Sub-Section Number: 3
Sub-Section Id: 586180466
Question Shuffling Allowed : Yes

Question Id : 5861806905 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

S T&d WU e el UGehd U8 T4 T[T & Iqa Sy

E: HIerAT AT ¥ e @l deAT 3R FTiged & Y () & 1T SIS 1T
| G B fergleg detTcne Fedl & S [T AT 31 F8T @18 Y PelTcnD
Hodi B & AT g, olfehe TSI gof 31 YEepid el GI&T T g gl

STTSTIe & GO -gHTud Gliged 3T Bred P TgaTT b [olq T Al
T Trpr g1 Tg1 g 1T ST 31 WTeree)- o] 31T Fied SIHere) dhell 3T
qTiged Pl Yool [edd & ST Bl e ® Bl TS9F TdT 3l
QT FICAATEH & AgN g Gied BT feree did g, ag riged adr
A= AATold BATIN DT TICH IdT gl DelT T Yliged & WIH H DU,
e, Udies, ea=ITcaddT, TS, T, edY 3T & ATedd 4 3cug i

AT ST Figed dt T refen T e g 519 °, JANT & JS

Sub questions

Question Number : 196 Question Id : 5861806906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS T e T [au 3

Options:

1. * HTeSTET

2. v Qe demEd
3. % {3 &P
4, S S{aT

Question Number : 197 Question Id : 5861806907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




YA T 37 &

Options:

1. * S99
2. v ITHUTT
3. = T
4. » Tard

Question Number : 198 Question Id : 5861806908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 3T 2

Options:

1. = 9T

2. % SMET

3. v JAUTHHER
4. % TTART

Question Number : 199 Question Id : 5861806909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“efferd” T 3ref gIaT &

Options:

1. v 3T g3
2.« QUL
3. = gitod
4. = TIH

Question Number : 200 Question 1d : 5861806910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qiiged $f Grefardr 3, S a3

Options:

1. » fove & I gt
2. % YTl & b gl
3. % DellcHa Bl
4. v QA ¥ I3




Question Id : 5861806905 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

sirer fe=t aTT AT T Tt U5 I Te&Al & S e’

gE: HTEaTedl o Hied H Fel R AfgeT F FT (BHA) F
T Sitg fem| died i faerg srellcash Hedl & Siig foam arr §
| FGT GETS UAE FollcA FHedl H & STar &, oifehed wToTer
SSI31T TEPIcT T FI&IT HT BT &1 STetoildel & TEY - TAT
g AT ey 1 g & Ow 3gegss dder &1 &R
81 T8I &lel e SITel &1 Tl - (37 i STefarar el
3R AigeT T Heddrel OEd & STeldl 1 did Hila &
NSIT LI &1 HIIROTT: dIeemeT & fdeare foig died &1
Ooue g &, 9% OIfacy duT 3T ofod el T e
BT &1 el 3UaT AIigcd o BIH H Feddr, [&d, Udie,
CTcIIcHRdT, oI, I, I h 3¢ o ATEIH & 3cUod dicy
el 3T HIgcd dr THT 1deh FOT oIF dg ool &, AT &
SE]

Sub questions

Question Number : 196 Question Id : 5861806906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AETET T hard YT &

Options:

1. = HTIMET
2. v GlecdemET

3. % ToI3T HEehid
s B | c




4. % ST Sdel

Question Number : 197 Question Id : 5861806907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TRATSTel T T &

1. » ¥3IF
2. v v

4, = T
Question Number : 198 Question Id : 5861806908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a1 AT &

Options:

1. % Feal

2. % T8

et
3. v 3ccdlTdhR

4. % TIFIT

Question Number : 199 Question Id : 5861806909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T 3T g g

Options:

‘I.JE'IT§3-1T

2. » WAZ
3. = aifed
4. = Yo

Question Number : 200 Question Id : 5861806910 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

arfecy Fr grdesar &, 99 dg;

Options:

1.« foosl @ g &
2. = TRl § JFd &
3. ® @hollcH &
4.@%???




